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Instructions Q\\, y
/
The passage below is accompanied by a set of questions. Choose thehest/énswer to each question.

until 1840, when it was adopted by Pierre-Jo h Proudhon to describe his political and social ideology. Proudhon argued that
organization without government was both po EleQd abie‘T_r')?[he evolution of political ideas, anarchism can be seen as an
ultimate projection of both liberalism and socialis Me dlfferlng strands of anarchist thought can be related to their emphasis on
one or the other of these. 2 ‘7

Historically, anarchism arose not only as an explanatlon of the gulf between the rich and the poor in any community, and of the reason
why the poor have been obliged to fight fo e}helr share of a common inheritance, but as a radical answer to the question ‘What went
wrong? that followed the ultimate outcome of the Frencyievolutlon It had ended not only with a reign of terror and the emergence of a

The word ‘anarchy’ comes from the Greek ' anarkhid, m d%kamng contrary to authority or without a ruler, and was used in a derogatory sense

newly rich ruling caste, but with a new ad {mperor Napoleon Bonaparte, strutting through his conquered territories.

The anarchists and their precursors were unique on the political Left in affirming that workers and peasants, grasping the chance that
arose to bring an end to centuries of exploitation and tyranny, were inevitably betrayed by the new class of politicians, whose first priority
was to re-establish a centralized state,power After every revolutionary uprising, usually won at a heavy cost for ordinary populations, the
new rulers had no hesitation i pIy?N@lence and terror, a secret police, and a professional army to maintain their control.

|'

NE
For anarchists the state |tselftlé the éhemy, dthey have applied the same interpretation to the outcome of every revolution of the 19th
and 20th centuries. This is not mere )B\p_eca,u e every state keeps a watchful and sometimes punitive eye on its dissidents, but because
every state protects thtla/privileges of the powerful.

7

The mainstream of ané\r‘chist propaganda for more than a century has been anarchist- communism, which argues that property in land,
natural resources, a%ﬁans of production should be held in mutual control by local communities, federating for innumerable joint
purposes with other com ‘es.\t differs from state socialism in opposing the concept of any central authority. Some anarchists prefer
to distinguish between anarchist-communism and collectivist anarchism in order to stress the obviously desirable freedom of an
individual or farplly to possess the resources needed for living, while not implying the right to own the resources needed by others. .

There are, u ?urprlsmgly, several traditions of individualist anarchism, one of them deriving from the ‘conscious egoism’ of the German
writer Max tirner (1806- 56) and another from a remarkable series of 19th-century American figures who argued that in protecting our
own autono ang_as§o€)ét|ng with others for common advantages, we are promoting the good of all. These thinkers differed from free-
market liberals in-theirabsolute mistrust of American capitalism, and in their emphasis on mutualism.

Question 1
The author makes all of the following arguments in the passage, EXCEPT:

-

y
The failure of the French Revolution was because of its betrayal by the new/élas of politicians who emerged from it.

>

(9}

B For anarchists, the state is the enemy because all states apply wolenz:é and ter rto?\al their control.
|ch cus the

Individualist anarchism is actually constituted of many streams, all/é nomy of the individual.

o

The popular perception of anarchism as espousing lawlessness and vio encg/ om a mainstream mistrust of collectivism.

Answer: D //\

Explanation: \)

Option A: This element is discussed in the third paragraph: {".. Thefg?rarch/’sts and their precursors were unique on the political Left in
affirming that workers and peasants, grasping the chance that arose\z‘b\vga\&naend to centuries of exploitation and tyranny, were
inevitably betrayed by the new class of politicians, whose first priority was to re-establish a centralized state power..."} Prior to making
this claim, the failure of the French revolution is highlighted, and:this segmeﬁ s subsequently tied to it. Hence, Option A is definitely a
point that is made in the passage. d‘h\/

Option B: This has been outlined in the fourth paragraph;: {".. .For anarch/sts, the state itself is the enemy, and they have applied the same
£

interpretation to the outcome of every revolution of the\19th and 20th centuries. This is not merely because every state keeps a watchful

and sometimes punitive eye on its dissident: t because every state protects the privileges of the powerful... "}

Option C: The last two paragraphs present the per \a\sséél'aféa with individualist-anarchism: {".. .desirable freedom of an individual
or family to possess the resources needed for living, whi M’lply/ng the right to own the resources needed by others. . . . There are,
unsurprisingly, several traditions of individualist anarchism, one.of them deriving from the ‘conscious egoism’ of the German writer Max
Stirner (1806-56), and another from a remarkfab/e series of 19th-century American figures who argued that in protecting our own
autonomy and associating with others for, cémmon advantages we are promoting the good of all..."} Thus, we can evidently understand
the statement in C to be true. 'u

N / /
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Option D, however, is not inferable from the\s@sussien;u/ndertaken in the passage. The author does not pinpoint "a mainstream mistrust
of collectivism" as the source of the misconceptlcTn’o/f anarchism "espousing lawlessness and violence". No causal element is discussed,
and thus, the statement in D is not an argument that is made in the passage.

__\
Hence, Option D is the correct/a/n/- «.\
LJI /.," W

l I' /’) ) M . .
\_«Join CAT 2022 Online Coaching
Question 2 ffl"#
The author believes %:ew ruling class of politicians betrayed the principles of the French Revolution, but does not specify in
what way. In the context of the-passage, which statement below is the likeliest explanation of that betrayal?

A The new/rullng class was constituted mainly of anarchists who were against the destructive impact of the Revolution on the market.

B The anarc‘hlsts did n)f’want a new ruling class, but were not politically strong enough to stop them.

b
B

C Thenew rulin c’ras’éfstruck a deal with the old ruling class to share power between them.

D The new ruling class rode to power on the strength of the workers’ revolutionary anger, but then turned to oppress that very class.

Answer: D
.//
Explanation: '/
The third paragraph renders us with sufficient information concerning the ménner (o) betraﬂ he failure of the Frech Revolution is being
attributed to the deceit of the new class of politicians who not only prloryf(sed the re-est ish t and centralisation of authority but also
unleashed a reign of terror on the ordinary masses. The author hints atJhl re-inst Ilatlo of r and the atrocities committed on the
common people, who are the very drivers of the revolution, being the desertion of the p/) téf the French Revolution by the new ruling

class of politicians. Any statement that aligns with this understanding/woul /be a ulta le answer. Option A brings in the concept of an
impact on the market, which is not mentioned in the passage. Additionally, it do not si ify betrayal of any kind. Same can be said
about the statement in Option B. Option C is a strong candidate that éyfn/\b\ Jsg etrayal owever, can we appropriately associate it with
the underlying principles of the revolution? The author's primary focus is on-the bome by the ordinary populations, and despite the
revolution being realised by their sacrifices, they are still the ones being subjected to inequity and torment. Although C highlights betrayal,
it does not truly coincide with the idea being conveyed. The afore-mentioned element is appropriately captured by Option D: it highlights
how the new class of politicians utilised the indignation of the masé‘é‘s[\_‘_{i{@r}ggrs for the revolution - to topple authority and rise to power -
and then stab them in the back by turning to oppress them. = ‘?\j

Question 3 . })
~ 4
Which one of the following best expresses the similarity between Amel:lcar(lndlwduallst anarchists and free-market liberals as well as

the difference between the former and the latter? J,\
\

ot i
A Both prioritise individual autonomy; but thefog ral empﬁ"?é mutual dependence, while the latter do not do so.
\J -

Both reject the regulatory power of the state; but the f‘onn‘erjavour a people’s state, while the latter favour state intervention in

markets.
c Both have sophisticated arguments for capitalism; but the former argue for a morally upright capitalism, while the latter argue that
the market is the only morality /W
D Both are founded on the moral principles'bf;é]tf{ ; but the latter conceive of the market as a force too mystical for the former to
comprehend.
Answer: A ==
<
[f [ N
Explanation: . / ( )]

We can derive our understanding of{the\e,t(/yo groups from the following: {"... There are, unsurprisingly, several traditions of individualist
anarchism, one of them.deriving from the conscious egoism’ of the German writer Max Stirner (1806-56), and another from a remarkable
series of 19th-century Amer/can figures who argued that in protecting our own autonomy and associating with others for common
advantages, we are qu‘/ng the good of all. These thinkers differed from free-market liberals in their absolute mistrust of American
capitalism, and in their haﬁ on mutualism..."}

It is evident that both the group\phorltlze individual autonomy; however, the latter does not put emphasis on mutualism. The mistrust of

American caprtafsm is an additional facet marking the difference {but not captured in any of the options}. Option A aptly highlights the
." f
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difference waeen the twq—factlons and is, hence, the correct answer.

Option B: PrW’érnmg state configuration or involvement are not discussed in the passage, and hence, we can eliminate this

option.
Option C: Perspectives regarding the nature of capitalism are not stated in the passage, and thus, we can effortlessly discard this option
Option D: None of the elements stated in this option can be understood from the passage, and therefore, can be rejected.

Question 4

Of the following sets of concepts, identify the set that is conceptually cI?ﬁ the concerns of the passage.
A Anarchism, State, Individual, Freedom.

B Revolution, State, Strike, Egoism. ﬁ

C Revolution, State, Protection, Liberals.

D Anarchism, Betrayal, Power, State.

Answer: A

Explanation:

One has to be mindful of the question: the set that is conce lly closest t

The passage is clearly about 'Anarchism’, and the discussion pert\a'rﬂ'lQ volution'is a sub-element. This elementary understanding
helps us pare down the viable choices to Options A and D. ‘Betrayal' is Eﬁain a minor sub-element used to supplement the core argument
concerning the authority of the 'State' and the justified gf tagonism of the anarchists towards it. Additionally, towards the end of the

discussion, individual autonomy and freedorﬁrve as t“ focal points. Thus, of the two likely choices, Option A is more appropriate and
pa

conceptually closest to the concerns of the i :'::’:7
g
\
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o

Question 5 : /’

he concerns of the passage.

According to the passage, what is the on igea that is common to all forms of anarchism?

A They all derive from the work of Pierre- Joseph Proudhon.

B They are all opposed to thWon of power in the state.

N
C They all focus on the prlmgcy of/ccﬁe pov}%\of the individual.

D Thereisnoidea corfp{non to all formslt%anarchlsm, that is why it is anarchic.

|
Answer: B \ \

S\

>
Explanation:
“‘\

Option A: The various derivations of anarchism cannot be associated with Pierre- -Joseph Proudhon. We don't have the requisite
information tg’support this claim.

Option B: This has been presented as the motto of every anarchist faction: wherein the state is the enemy {opposition to the
centralizatio{:g]]c power}. While there are additional beliefs associated with different schools of anarchist thought, this antagonism
towards centr E‘ed-peW forms their core.

Option C: This belief has been shown to be limited to individualist anarchism {based on the information from the passage}; cannot be
stated as a common attribute.

Option D: This assertion would be a gross understatement; the latter half of the option is especially a bit odd {no such idea has been

implied}. //

Hence, of the given choices, Option B is the correct answer.

Instructions

P
f
The passage below is accompanied by a set of questions. Choose the best answer to(\

Few realise that the government of China, governing an empire of some 6 |1hon peo ing the Tang dynasty (618-907),
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implemented a complex financial system that recognised grain, coins/and textil s maney. . . . Coins did have certain advantages: they
were durable, recognisable and provided a convenient medium of exZMiéq,es écially f§r smaller transactions. However, there were also
disadvantages. A continuing shortage of copper meant that government m\ln_t§ roduce enough coins for the entire empire, to
the extent that for most of the dynasty’s history, coins constituted only a tenth ¢ tﬁé'money supply. One of the main objections to calls

for taxes to be paid in coin was that peasant producers who could weave cloth origrow grain - the other two major currencies of the Tang
- would not be able to produce coins, and therefore would not be ab topay their taxes. . ..
2

.
As coins had advantages and disadvantages, so too did textiles. If in circula ionfor a long period of time, they could show signs of wear
and tear. Stained, faded and torn bolts of textiles had less vaL(_J\ an a brand/new bolt. Furthermore, a full bolt had a particular value. If
consumers cut textiles into smaller pieces to buy or sell sometﬁl‘ng\ than a full bolt, that, too, greatly lessened the value of the

textiles. Unlike coins, textiles could not be used for small transaction\é; n official] noted, textiles could not “be exchanged by the foot
and theinch”. .. {

But textiles had some advantages over coin%r a start, textile production was widespread and there were fewer problems with the
supply of textiles. For large transactions, textile \e@%‘( eir equivalent in coins since a string of coins . . . could weigh as
much as 4 kg. Furthermore, the dimensions of a bolt \held remarkably steady from the third to the tenth century: 56 cm wide and 12
m long . . . The values of different textiles were also more \blsythan the fluctuating values of coins. . ..

The government also required the use of te)gt[]bs for large transactions. Coins, on the other hand, were better suited for smaller
transactions, and possibly, given the cost c transporting coins, for a more local usage. Grain, because it rotted easily, was not used
nearly as much as coins and textiles, but taxpayers werejl’?quired to pay grain to the government as a share of their annual tax
obligations, and official salaries were exp

ed:av:/:[/ts of grain. . ..
In actuality, our own currency system today ha similarities even as it is changing in front of our eyes. . . . We have cash - coins for
small transactions like paying for parking at a meter, and banknotes for other items; cheques and debit/credit cards for other, often

larger, types of payments. At th ime, we are shifting to electronic banking and making payments online. Some young people never
use cash [and] do not know h(}%@}&a\ eque. ..
It (

u \) )w
t \ £
During the Tang period, which one éf@flowing would not be an economically sound decision for a small purchase in the local

market that is worth orl'@eighth of a bolt of cloth?

&\

S
A Making the paymmh\ e appropriate weight of grain.
LN

B Paying wi}h? faded bolt of cloth that has approximately the same value.
&Y

Question 6

C Using ccr%s issued by th? government to make the payment.

D Cutting We fabric from a new bolt to pay the amount.

Answer: D

Explanation:

Options A and C are economically sound decisions. Option B might be a viable choice; as well. However, Option D would not be an
economically sound decision for a small purchase in the local market that is worLP/oee—eighth of a bolt of cloth. Concerning small
transactions, the author highlights the limitations that stemmed from a textile.form of currency: "... Furthermore, a full bolt had a particular
value. If consumers cut textiles into smaller pieces to buy or sell something worth less th /I bolt, that, too, greatly lessened the value
of the textiles..." Thus, cutting the cloth would greatly diminish its value {and conseque \{‘)fc;éﬁ be considered as a sensible decision}.
Hence, Option D is the correct answer. (

\
/
Question 7 / /_,) —
When discussing textiles as currency in the Tang period, the author ’.lse the words “st y” and “stable” to indicate all of the following
EXCEPT: f /\\
N
A N

reliable transportation.

reliable quality. \"‘\:\'_\H\\
C reliable measurements. v
N )
. ~0
D reliable supply. “Ee=s

Answer: A ‘:
Explanation: Q:\\\___,f—j
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The author evidently highlights the stability of utilizing ’textl}es\glven its abundant supply{".. .textile production was widespread and there
were fewer problems with the supply of textiles..."}, the steady@andard of measurement {"...the dimensions of a bolt of silk held
remarkably steady from the third to the z‘ent/raentury 56 cm wide and 12 m long..."} and reliable quality {"... Furthermore, a full bolt had a
particular value. If consumers ..."}. Transp 7at|on is not a dominant variable that is considered in the discussion pertaining to textiles.
Hence, Option A is the correct choice. [-}

\
‘\\._____/_,/
CAT previous papers (download pdf)

Question 8 —
P ‘\

In the context of the passage h|ch?4‘|\of\1’h$followmg can be inferred with regard to the use of currency during the Tang era?

@)

A Currency that deteriorated easny\w\s“pe)’{ used for official work.
7

B Copper coins wer; t{\_pre valuable and durable than textiles.
~
C Grains were the most u a\eurrency because of government requirements.
.[\- . . .
D Currency usage was similar to that of modern times.

f
Answer: II(
{ /
N
Explanation: &71%
Let us inspect the individual statements:

Option A: The author does not make any such claim. The following is stated in this regard: ". ..Grain, because it rotted easily, was not usec
nearly as much as coins and textiles...". Thus, the marginal usage of grains is presented relative to that of coins and textiles. Therefore, it
cannot be understood that perishable currencies such as grains were not utilised for official work.

Option B: The author simply states that "...Coins did have certain advantages. théy were durable, recognisable and provided a convenient
medium of exchange, especially for smaller transactions..." Presenting them.as being more valuable than textile currency would be
incorrect.

ain, ecalf< e it rotted easily, was not used nearly as much as
coins and textiles, but taxpayers were required to pay grain to the govern

Option C: This would be imprecise as the author portrays the following: /.. .
salaries were expressed in weights of grain..." The statement here deviate

Option D: This statement can be understood from the final paragrapl{ rein t
today has some similarities even as it is changing in front of our eyes. \W‘b
parking at a meter, and banknotes for other items, cheques...". Hence, Op ion D

S

Question 9 &
According to the passage, the modern currency system shares all tbowj%features with that of the Tang, EXCEPT that:

Q

A it uses different materials as currency. \
B it uses different currencies for different situations.
C its currencies fluctuate in value over timQ

D itis undergoing transformation.

Answer: D

Explanation:
Let us pay heed to the following excerpt: "\.../n actuality,

r own currency system today has some similarities even as it is changing in
front of our eyes. . . . We have cash - coins ‘for.small transactions like paying for parking at a meter, and banknotes for other items;
cheques and debit/credit cards for other, ofte types of payments. At the same time, we are shifting to electronic banking and
making payments online. Some young people never use cash [and] do not know how to write a cheque..."

Based on the above, we can |nfp”r , B and C as the similarities that are implied. Concerning Option D, while the author does
mention the present currency 7’ s\é*Qh’anglng/dynamlc one, the same cannot be said about the Tang dynasty. The author does not
highlight this element as a similarit Henc% ption D is the correct answer.

Instructions

‘\

£
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The passage below is Qccompamed by a set of questions. Choose the best answer to each question.

Vocabulary used in sp hQLWFItIng organizes itself in seven parts of speech (eight, if you count interjections such as Oh! and Gosh!

and Fuhgeddaboudit!). Com \mcatlon composed of these parts of speech must be organized by rules of grammar upon which we agree.
When these rules break down, co fusion and misunderstanding result. Bad grammar produces bad sentences. My favorite example from
Strunk and WHEt’é is this one: “As a mother of five, with another one on the way, my ironing board is always up.”

Nouns and Ye{rbs are the two indispensable parts of writing. Without one of each, no group of words can be a sentence, since a sentence
is, by deflnltipn, a group of words containing a subject (noun) and a predicate (verb); these strings of words begin with a capital letter, end
with a perlod\an\d‘eomt;né to make a complete thought which starts in the writer's head and then leaps to the reader’s.

Must you write complete sentences each time, every time? Perish the thought. If your work consists only of fragments and floating
clauses, the Grammar Police aren’t going to come and take you away. Even William Strunk, that Mussolini of rhetoric, recognized the
delicious pliability of language. “It is an old observation,” he writes, “that the best writers sometimes disregard the rules of rhetoric.” Yet
he goes on to add this thought, which | urge you to consider: “Unless he is certain of doing well, [the writer] will probably do best to follow
the rules.” P

r

The telling clause here is Unless he is certain of doing well. If you don’t have/AJdi ntary grasp of how the parts of speech translate into
coherent sentences, how can you be certain that you are doing well? Hovy/WiII you ow;fyou@e\domg ill, for that matter? The answer, of
course, is that you can't, you won’t. One who does grasp the rudlmentSJ;f gramma fmd{a com 3rt|ng simplicity at its heart, where there

need be only nouns, the words that name, and verbs, the words that act. P \

Take any noun, put it with any verb, and you have a sentence. It never fails. efck xp+o e. Jane transmits. Mountains float. These are all
perfect sentences. Many such thoughts make little rational sense, bu} even the gerones (Plums deify!) have a kind of poetic weight
an p ;

that's nice. The simplicity of noun-verb construction is useful—at the _yé? -l rovide a safety net for your writing. Strunk and
White caution against too many simple sentences in a row, but simple sent\ene‘e\é a path you can follow when you fear getting lost
in the tangles of rhetoric—all those restrictive and nonrestrictive clauses, those 0 fylng phrases, those appositives and compound-
complex sentences. If you start to freak out at the sight of such unpapped terrltory (unmapped by you, at least), just remind yourself that
rocks explode, Jane transmits, mountains float, and plums deify. Gramngjar is . . . the pole you grab to get your thoughts up on their feet
and walking. = ‘:\]
Question 10 & ) )

W
Which one of the following statements, if false, could be seen as suppqﬂmﬁ the arguments in the passage?

/)

\

A Anunderstanding of grammar helps a writer decide if\she/he is writing well or not.

\\"\ '—_____.,—'—'—"'_7
Regarding grammar, women writers tend to be ﬁ*re[g‘atf;éﬁﬁ\_/e to method and
accuracy. ~

<

P,

C It has been observed that writers somet‘r’pn’és disregard the rules of rhetoric.
f

D Perish the thought that complete sentences neces?my need nouns and verbs!

Answer: D \\ /
Explanation: P
We need to find a statement, w, Leh'lf\fa\ise aligns with the discussion/serves as a supporting argument. Let us inspect the individual
options: [ / \ =5y

i} / W

Option A: In its current form, this stqtémenylé in tune with the author's assertion. However, if false, it is antagonistic to the claim being
made in the passage. Hence, we caﬁe]‘f&i’nﬁte this option.

Options B and C: Rega{a?ess of whether these statements are true or false, they do very little to further the idea presented in the passage.

PN
Option D: This state Et hmglies that complete sentences do not need nouns and verbs. However, in the passage, the author says
otherwise; thus, if this sent \éﬂs false, it perfectly aligns with the argument made in the passage. Therefore, Option D, if false, could be
seenasa supplementary argum
Y 4
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Question 11 \V/

“Take any noun, put it with any verb, and you have a sentence. It never fails. Rocks explode. Jane transmits. Mountains float.” None of
the following statements can be seen as similar EXCEPT:

A
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A Take any vegetable, put some spices in it, and you have a dish p
/
B Take an apple tree, plant it in a field, and you have an orchard. ( @

\
) /
. ———r
C A group of nouns arranged in a row becomes a sentence. ﬁ
D A collection of people with the same sports equipment is a sporté i
Answer: A

Explanation: Q\
The author intends to highlight that the rudimentary combination of a no a verb serves as the simplest form of expression; two

basic yet immensely significant entities coupled together that is representati a broader and perhaps, complex group of entities {a
sentence}. Option A is closest to such a relationship: vegetaﬁ\es\ansi spices [(two elements) combined to represent a larger group -
'dishes’. The same cannot be said about the rest of the options, sinee t idently deviate from the core message being conveyed.

Question 12 y
\
Which one of the following quotes best cap%s the mh\i concern of the passage?
\ 4

.

e
\
A “The telling clause here is Unless he is certain o%rng\wﬂ
T~
N

B “Bad grammar produces bad sentences,* >

“Strunk and White caution against too

any simple spptences in a row, but simple sentences provide a path you can follow when you
fear getting lost in the tangles of rhetori

”

4

\‘--__pf ege . "
D “Nouns and verbs are the two indispensable parts of writing. Without one of each, no group of words can be a sentence.. . .

Answer: B =
/’_‘*\ .
. ff //\"\ .
Explanation: i} / J/ L)ﬁx
The author begins by highlighting tHel\nece§ ty for a set of codes (enabled by grammar) to organize communication and avoid

confusion. He then proceeds to presentsipplementary arguments in this regard (elements associated with rhetoric and its

specialists) and emphq/s:i’zes how even proper, intentional simplification can be attained only through a firm grasp of the rudiments of
grammar. Therefore, i tga\n be observed that grammar is the focal point here and the correct choice should definitely align with this.
Option B aptly captures-the-main concern raised in the passage. Options A and C fail to include the idea revolving around grammar and
instead focuses on the ad |th?é‘Santion D is close; however, the mention of nouns and verbs is with the intention to supplement the idea
highlighted in B. These simply ;éhi’e as an illustration to emphasize the significance of grammar. Thus, between the two options B and D,

Option B is thé;s’l]itable choice.

f
Question 1:1/ L }.f
All of the fol\o\{vng st:ﬂ?é'nts can be inferred from the passage EXCEPT that:
S

A sentences do not always have to be complete.

B the subject-predicate relation is the same as the noun-verb relation.
y
C the primary purpose of grammar is to ensure that sentences remain simple.
D “Grammar Police” is a metaphor for critics who focus on linguistic rules. Pz
Answer: C (’(
\
. It

Explanation: ol

Option A: This can be inferred from "... Must you write complete senténces eachtime, time? Perish the thought. If your work consist:
only of fragments and floating clauses, the Grammar Police aren’t goi come and takelyou away..." The author presents an
illustration to show how a simple combination of a noun and verb forms a ¢o n ression.

Option B: Based on the limited information available from the passage, we can éqva e this inference from ". ..no group of words can be a
sentence, since a sentence is, by definition, a group of words cont{m‘aqsubject (noun) and a predicate (verb)..."

Option C: The author does not make any such claim. Grammar serves 55\3 hanism to organize communication and avoid confusion.
However, the "primary purpose" of grammar is not to ensure t{h\aisentences in "simple". Since we cannot infer this statement from

Downloaded from cracku.in


https://cracku.in

the passage, it is the correct answer. \\\_/

-
Option D: Although not explicitly mentioned, we can understand the sentiment behind using the term "Grammar Police". The author is
using this as a metaphor for the strong adherents of thg"grammatic rules (who are perhaps swift to judge and criticize).

Therefore, we can infer all of the statement t for }‘&Won C.
e\ ——

Free CA Preparation App
0

Question 14 £/

Inferring from the passage, the author co (d be most suP’)ortlve of which one of the following practices?

A The availability of language software that wi Lsraﬂ%rdise the rules of grammar as an aid to writers.

B A campaign demanding that iter's creative license should allow the breaking of grammatical rules.
\
.-f

\

C A Creative Writing course @at fcf:ﬂses ﬁrybbw to avoid the use of rhetoric.

D The critique of standardised ruIe'S\_jl’ctuatlon and capitalisation.
>

Answer: A (]
’\\\l\\
P,

Explanation:

In this question, we need to i&my the statement that coincides with the aspects discussed by the author. Putting ourselves in the
author's shoes,/jye know that grammar (and the necessity to appropriately learn it) is the primary idea that needs to be conveyed. Writers
with a subst tial understanding of the elementary rules in grammar can appreciate the "comforting simplicity at its heart" (is what the
author cla|n1| . Thus, the apthor will surely support any stance that concurs with the above.

Option A: Th W\ defnpély supplement the assertion made by the author. It will enable writers with the requisite understanding of the
standard governing rules - a significant necessity highlighted by the author. He is bound to favor such an action.

Option B: The author would endorse such drastic measures (does not match the tone). The pliability of grammatical rules is a noticeable
comment made by the author (but only for those well-versed with it). Hence, we can eliminate this option.

Option C: The author does not portray any view that promotes the eschewal of rhetoric. This again deviates from the discussion in the
passage and can be scrapped as the correct choice.

Option D: The focus is broad: on grammar (not just on punctuation and cap ization).

It is evident that Option A is the only sensible statement that the author w/uld support

Instructions
The passage below is accompanied by a set of questions. Choose the be: swe,t.to aé]ﬁiu/estion.
g

In the late 1960s, while studying the northern-elephant-seal populatlo oasts
his colleagues couldn’t help but notice that the threat calls of males soun
. That was the first time dialects were documented in a nonhuman mam

Mexico and California, Burney Le Boeuf and
different from those of males at other sites. .

All the northern elephant seals that exist today are descendants of e small hex "that survived on Isla Guadalupe [after the near
extinction of the species in the nineteenth century]. As that tiny pop {atlon grew, northern elephant seals started to recolonize former
breeding locations. It was precisely on the more recently colonized island he(e Le Boeuf found that the tempos of the male vocal
displays showed stronger differences to the ones from Isla lea\dalupe the founder colony.

In order to test the reliability of these dialects over time, Le Boeuf‘aﬁdother earchers visited Afio Nuevo Island in California—the island
where males showed the slowest pulse rates in their calls—every winterf 1968 to 1972. “What we found is that the pulse rate
increased, but it still remained relatively slow compared\r\c{ie other colonies we had measured in the past” Le Boeuf told me.

At the individual level, the pulse of the calls stayed the e: A male would maintain his vocal signature throughout his lifetime. But the
average pulse rate was changing. Immigration coul d«llav en Lespo/nsmle for this increase, as in the early 1970s, 43 percent of the
males on Afio Nuevo had come from southern rookeries at had a faster pulse rate. This led Le Boeuf and his collaborator, Lewis
Petrinovich, to deduce that the dialects were, perhaps, a r\sult oglsolatlon over time, after the breeding sites had been recolonized. For
instance, the first settlers of Afio Nuevo could@ave had, by chance, calls with low pulse rates. At other sites, where the scientists found
faster pulse rates, the opposite would havethappened—seals with faster rates would have happened to arrive first.

As the population continued to expand andthe islands képt on receiving immigrants from the original population, the calls in all locations
would have eventually regressed to the average pulsew}é of the founder colony. In the decades that followed, scientists noticed that the
geographical variations reported in 1969 we e not-ebvious anymore. . . . In the early 2010s, while studying northern elephant seals on Afo
Nuevo Island, [researcher Caroline] Casey notlcedftoo that what Le Boeuf had heard decades ago was not what she heard now. . . . By
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performing more sophisticated statistical analyses on both sets of data, [Casey and Le Boeuf] confirmed that dialects existed back then
but had vanished. Yet there ar gtﬁ_e F %nces between the males from the late 1960s and their great-great-grandsons: Modern males
exhibit more individual dlvers , and \}are more complex. While 50 years ago the drumming pattern was quite simple and the
dialects denoted just a change in teﬁ;o Casey explained, the calls recorded today have more complex structures, sometimes featuring
doublets or triplets. . . . \_\:;//

Question 15 ( .7

U\
All of the following errred from Le Boeuf’s study as described in the passage EXCEPT that:
J.

Y
A male northern elephant seals might not have exhibited dialects had they not become nearly extinct in the nineteenth century.

£ //

B change{if population and migration had no effect on the call pulse rate of individual male northern elephant seals.
]

\ /
c the inflqu elephant seals into Afio Nuevo Island would have soon made the call pulse rate of its male seals exceed

that of those uadalupe.

the average call pulse rate of male northern elephant seals at Afio Nuevo Island increased from the early 1970s till the disappearance
of dialects.

Answer: C

Explanation:
Let us inspect the individual statements:

Option A: This can be inferred from the second paragraph [".. ./t was preci on the @y colonized islands where Le Boeuf
found that the tempos of the male vocal displays showed stronger differences.to the ~froin Isla Guadalupe, the founder colony..."].

The inception of the eventual dialects has been indirectly attributed to'th es that occurred as a result of the near
extinction of the elephant seals. Hence, we can infer Option A from tlje {

Option B: This can be inferred from the fourth paragraph: [". ..At the /'nd/'vigllg,/\ Ise of the calls stayed the same: A male would
maintain his vocal signature throughout his lifetime..."| The changing variables hav ttle to no effect of the individual vocal signature of
the elephant seals. Thus, Option B can be inferred from the passagz

Option C: No such claim is made in the passage. ~

Option D: This can be inferred from [".. .could have been responsible for this i
Afo Nuevo had come from southern rookeries that had a fas nd the discussion at the beginning of the final paragraph:
["...As the population continued to expand and the islands kept on 27 immigrants from the original population, the calls in all
locations would have eventually regressed to the average pulse rate of the founder colony...].

Therefore, of the given statements, we cannat infer Opt\q
Question 16

Which one of the following conditions, if true, could ha ured that male northern elephant seal dialects did not disappear?

ase, as in the early 1970s, 43 per cent of the males on

F

Besides Isla Guadalupe, there was one more surviving colony with the same average male call tempo from which no migration took

place. < n

B The call tempo of individual male seals '\hggt_cglaés'. changed to match the average call tempo of immigrant male seals.

Besides Isla Guadalupe, there was one more founder colony with the same average male call tempo from which male seals migrated

to various other colonies. / .
.

.r"\\

D The call tempo of |nd|V|du@f |mn?ﬁgrant?TTJ\é seals changed to match the average tempo of resident male seals in the host colony.

Answer: D l-\l -

&
Explanation: '\ (
A noticeable clue to ‘Fe\that the male northern elephant seal dialects did not disappear is presented in the penultimate paragraph:
['...At the individual level, kj\au[ie of the calls stayed the same: A male would maintain his vocal signature throughout his lifetime. But
the average pulse rate was changing. Immigration could have been responsible for this increase, as in the early 1970s, 43 per cent of the
males on Aﬁo /(]uevo had come from southern rookeries that had a faster pulse rate..."]. The loss in the dialect is due to the influx of
seals with a faster pulse rate and "as the population continued to expand and the islands kept on receiving immigrants from the original
population, I-?e calls in all Igeations would have eventually regressed to the average pulse rate of the founder colony." Thus, if the
individual pLIKSe rate oft }mmlgrants varies or adapts to the existing population, this could preserve the dialect in a particular region.

-
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The statement\in:(_Tp_t;Tg’)ﬁ{i reflects this specific idea and helps sustain the existing dialect in a given population. Options A and C do little
to contribute to the cause of preventing the disappearance of the dialects. Option B aligns with the discussion in the passage and is
responsible for the regression of the dialects. Hence, Option D is the correct answer.

CAT Formulas PDF [Down/la‘" d Now]

Question 17

Which one of the following best sums up the overall history of transfor atlon of male, ?orth elephant seal calls?

)

Owing to migrations in the aftermath of near species extinction, the a age caII pu1) eraies in the recolonised breeding locations

A
exhibited a gradual increase until they matched the tempo at thef unding co
B The calls have transformed from exhibiting simple composition, Iéss |hq_\! vane) and great regional variety to complex
composition, great individual variety, and less regional variety.
c Owing to migrations in the aftermath of near species extinctiorﬁ[rs.calls have transformed from exhibiting complex composition,
less individual variety, and great regional variety to simple compoéfﬁen{le&s\ individual variety, and great regional variety.
7
D The calls have transformed from exhibiting simple compéé}\tiqn, great in})idual variety, and less regional variety to complex
composition, less individual variety, and great regional varietS/‘?‘\___ .
~—
Answer: B y
\
Explanation: -

The following excerpt serves as an essential ;D?c\e\l’m\c rppar:%ﬁz difference in the attributes of the elephant seals: ['. .. Yet there are
other differences between the males from the late 7 9\5‘69 and their great-great-grandsons. Modern males exhibit more individual diversity,
and their calls are more complex. While 50 years ago the d%«ng pattern was quite simple and the dialects denoted just a change in
tempo, Casey explained, the calls recorded today have more complex structures, sometimes featuring doublets or triplets. . . "]

/
In the late 1960s, the elephant seal calls gl’e marked by having a simple drumming pattern which later transformed into calls with
marked individual diversity and sophistic ti'Qn. Additionally, the dialects that were present in the 1960s were not evident during the study
undertaken in the early 2010s, thereby indi é‘b@ se in the regional variations in the calls. These elements are aptly captured in
Option B.

Question 18

From the passage it can be in;éfea?i;n\ &a\ll pulse rate of male northern elephant seals in the southern rookeries was faster

because: ] / f \) r

the male northern elephant seals Gﬂﬁl/GuadaIupe with faster call pulse rates might have been the original settlers of the southern
rookeries. \ {
£\

B alarge number oWn elephant seals migrated from the southern rookeries to Afio Nuevo Island in the early 1970s.

y
a large number of male northern elephant seals from Afio Nuevo Island might have migrated to the southern rookeries to recolonise

them. ,//,

f
the call ch_ male northern elephant seals in the southern rookeries have more sophisticated structures, containing doublets and
triplets.\/

Answer: A

Explanation:

We can make a direct inference based on the following excerpt from the fourth paragraph: [".. . This led Le Boeuf and his collaborator,
Lewis Petrinovich, to deduce that the dialects were, perhaps, a result of isolation a/e?‘ time, after the breeding sites had been recolonised.
For instance, the first settlers of Afio Nuevo could have had, by chance, calls with low pulse rates. At other sites, where the scientists

found faster pulse rates, the opposite would have happened—seals with faster rates would happened to arrive first..."]
/ ~
Based on the above information, the only reason behind the call puls 77Q male norlﬁ@;e nt seals in the southern rookeries

being faster would be because the male northern elephant seals of Isla/Guadalupe with faster pulse rates might have been the
original settlers of this region. Option A correctly highlights this reason'and is, ence t ec;edt answer.

Instructions
For the following questions answer them individually /\\ \
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Question 19 SN
Five jumbled up sentences, related to a topic, are given below. Four of them canbe put together to form a coherent paragraph. Identify
the odd one out and key in the number of the sentence as your an er

1. For feminists, the question of how we read is inextricably Imked with the tlon of what we read.
2. Elaine Showalter’s critique of the literary curriculum is ex 1a(y of this

3. Androcentric literature structures the reading experience dlffer tly /e'ndlng on the gender of the reader.

4. The documentation of this realization was one of the earliest tasks undertaken by feminist critics.

5. More specifically, the feminist inquiry into the actlvn’ty‘ of reading begins with the realization that the literary canon is androcentric,
and that this has a profoundly damaging effget on womﬁm readers

Answer:3 5
“"\_\1\_

-\\:)
Explanation: Vo)
The passage is focused on delineating the;ryfechanlsm of reading as perceived by feminists (and the criticism associated with it). The
arrangement (1)-(5)-(4)-(2) forms a coher?nt paragraph arr}d Statement (3) stands out like a sore thumb. While the passage describes the
elements associated with a feminist perspﬁ\ztl\ve (3) brji)gs in a description of androcentric literature that does not align with the context.

-

Top-500 F;t;e CAT Questions (With Solutions)

Question 20 ﬁ/ '_;,:H
[:f / \ ﬂ_‘-;.
The passage given below is ﬂlalloweéllv’by foqr)alternate summaries. Choose the option that best captures the essence of the passage.
\ N ./,f'

For nearly a century most psychologlstshave embraced one view of intelligence. Individuals are born with more or less intelligence
potential (1.Q.); this pote’;ltlal is heavily influenced by heredity and difficult to alter; experts in measurement can determine a person’s
intelligence early in Hjé; currently from paper-and-pencil measures, perhaps eventually from examining the brain in action or even
scrutinizing his/her gt\a\ome Recently, criticism of this conventional wisdom has mounted. Biologists ask if speaking of a single entity
called “intelligence” is coherenr:apd question the validity of measures used to estimate heritability of a trait in humans, who, unlike
plants or ammals, are not conceived and bred under controlled conditions.

//
A BIO|OgISk4 have questhned the long-standing view that ‘intelligence’ is a single entity and the attempts to estimate it's heritability.
e A
N, A .r’(

B Biologists ﬁave cr|t|e1$ed that conventional wisdom that individuals are born with more or less intelligence potential.

C Biologists have started questioning psychologists' view of 'intelligence’ as a measurable immutable characteristic of an individual.

D Biologists have questioned the view that ‘intelligence’ is a single entity and the ways in which what is inherited

Answer: A y
Explanation: y /w\
The paragraph highlights the following: / @ (

1. The validity of the ubiquitous perspective held by psychologists {of |ﬁtel igenc belngz\meaéurable unalterable entity that is greatly

influenced by heredity} is now being questioned by biologists. / U,/ ,—~

the f%t tha%vumans, who, unlike plants or animals, are not
/

O/

Thus, a statement capturing these elements is bound to be the answer. Option "A a tly encompasses these two key points.

2. The dubiety concerning the aspect of intelligence being hereditary J{gyo(
conceived and bred under controlled conditions."} v

Option B: Calling the widely -held perspective as conventional Wlsdéfﬂ\wld be |nappropr|ate Additionally, the statement here fails to
capture point (2).

~.

Option C: Although close, it misses out on the second half ofzt%scussmnw

Option D: This option might appear confusing, given that it touchésupenbtatb{the key elements. However, it is unspecific and comes

across as a bit odd {"ways in which what is inherited" doesn't make sense}. | Between Options A and D, A is definitely the better choice.

/\
\

\

\7

Downloaded from cracku.in


https://cracku.in/cat-questions
https://cracku.in

Question 21 V4

i 4
The four sentences (labelled 1, 2, 3, 4) bqid(w, when propﬁrly sequenced would yield a coherent paragraph. Decide on the proper
sequencing of the order of the sentences'and key in th/e/'/gtequence of the four numbers as your answer:

</

1. Relying on narrative structure alone, indig\éﬁoussféaificances of nineteenth-century San folktales are hard to determine.
2. Using their supernatural potency, benign shamans transcend the levels of the San cosmos in order to deal with social conflict and to
protect material resources anbd(e/ﬁﬁ]\}msasure of respect that sets them apart from ordinary people.
3. Selected tales reveal that they degfl_,Withfaiqrm of spiritual conflict that has social implications and concern conflict between people
and living or dead malevolent shamans. ||~
4. Meaning can be elicited, and the'.\t&\ef/co" extualized, by probing beneath the narrative of verbatim, original-language records and
exploring the connotatip\ns of highly significant words and phrases.

Answer:1432 Qi\
W
Explanation: 7

Statement (1), introduces the predicament we face: the difficulty in understanding the indigenous significance of the nineteenth century
San folktales'by simply probing the narrative structure. The author indicates that there are additional variables that need to be
considered.|'ﬂ:he aspect of evaluating elements beyond the "the narrative of verbatim" as highlighted in Statement (4). The outcome of
such a metHQ'd__c_)Iogy of e;ﬁ,lbring these narratives is then presented in the Statements (3) followed by (2). Statement (3) highlights dead-
malevolent sh \answ’r/’fjlér(Z) talks about benign shamans. Hence, we obtain (1)-(4)-(3)-(2) as a coherent paragraph.

Question 22

The passage given below is followed by four alternate summaries. Choose the option that best captures the essence of the passage.

As Soviet power declined, the world became to some extent multipolar, and Europe’Strove to define an independent identity. What a
journey Europe has undertaken to reach this point. It had in every century char)géd its internal structure and invented new ways of
thinking about the nature of international order. Now at the culmination of an era, Europe, in order to participate in it, felt obliged to set
aside the political mechanisms through which it had conducted its affairs‘for thre an@a,ﬁéff?qenturies. Impelled also by the desire to
cushion the emergent unification of Germany, the new European Union/es lished a éP/mmorDirrency in 2002 and a formal political
structure in 2004. It proclaimed a Europe united, whole, and free, adju’étin /(t)s d fereﬁé@ bx € ceful mechanisms.

//'/ /’i
rder zﬁéthat% culminated in a united Europe.
\

A Europe has consistently changed in keeping with the changing wg&r}j\
.’/ X |

\,
~

‘ WML
The establishment of a formal political structure in Europe was hastene\d'by;f\h%mﬁﬁéation of Germany and the emergence of a

multipolar world. \

O
C Europe has consistently changed its internal structure to succesé‘full‘Y*aQapt to the changing world order.

5

D Europe has chosen to lower political and economic heterggeneity, in ord%r)fo adapt itself to an emerging multi-polar world.

== )
Answer: D O/

Explanation: ‘(' ‘\

The passage begins by highlighting Europe's@on_tinual tfpmpt to adapt itself in a multipolar world by striving to be a dynamic entity-
nationally and internationally{"changed its inte?na?\s#qp )'e-g_r[cﬂh_u_ej;ed new ways of thinking about the nature of international
order'}. Post this, the author portrays how certain schmﬁl_ﬁrﬁhe modern world has lead Europe to review its political components {" set
aside the political mechanisms through which it had conabe@ its affairs for three and a half centuries'} and to make changes in its
economic structure {"established a commoqpyrrency"}. Thus, the passage presents two key elements: (1) the fact that Europe has
consistently tried to adapt to a changing wp’r,ld and (2) the manner in which Europe has attempted to achieve that in the existing multi-
polar setup. Option D correctly highlights _ése points.

o

Option A: This misses out on the point (2).‘%&Qherm rq/directly ascribing the unification of Europe to its attempt to rapidly change would
i ' 4
be incorrect. S

e -

Option B: This does not fully capture the essence of the passage and misses out on point 1.

Option C: Although the statem?fj}intﬁié\egtion captures point 1, it misses out on point 2.

<G
Hence, Option D is the correct‘_ﬁnswﬁ:‘ ) =
l\\ II\'\_-//’/ I
@ ~ Free CAT Study Material

A
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Question 23 Q.
\\ 7

The passage glyen below is followed by four alternate summaries. Choose the option that best captures the essence of the passage.

£/
For years, n{qwes and televlsmn series like Crime Scene Investigation (CSI) paint an unrealistic picture of the “science of voices.” In
the 1994 mo\\ne Clear and *hresent Danger an expert listens to a brief recorded utterance and declares that the speaker is “Cuban, aged
35 to 45, educated.in thé. [/ .] eastern United States.” The recording is then fed to a supercomputer that matches the voice to that of a
suspect, concludmt_rﬂﬁ the probability of correct identification is 90%. This sequence sums up a good number of misimpressions
about forensic phonetics, which have led to errors in real- life justice. Indeed, that movie scene exemplifies the so-called “CSl effect”—

the phenomenon in which judges hold unrealistic expectations of the capabilities of forensic science.

A Although voice recognition is often presented as evidence in legal cases, its sme |f|c basis can be shaky.

B Voice recognition as used in many movies to identify criminals has bﬁy/sedt |de}tj_yor@|nals in real life also.

\

C Movies and televisions have led to the belief that the use of forensu;/p ﬁetlc in IQ al mves)t};atlons is robust and fool proof.
/

\

] /

L
Voice recognition has started to feature prominently in crime- scen/e in q‘hgencemv stlgatlons because of movies and television

D
series. F )

Answer: C L\v

Explanation: 5

The passage is primarily about the misconception regarding the caﬁ;acny\of forensic phonetics stemming from its portrayal in movies
and television. This aspect is correctly captured by the point stated in C. The-author does not question the "scientific basis" of the
evidence (based on voice recognition) that is presented in legal cases. Hencag tion A can be eliminated. The claim made in Option B

cannot be understood from the passage. Same can be said a{)Q\QQg’uon D. Hence, Option C is the correct answer.
\_‘\»-_//
Question 24 —

The four sentences (labelled 1, 2, 3, 4) below, when pr?f erly sequenced would yield a coherent paragraph. Decide on the proper
sequencing of the order of the sentences algkey in the\§equence of the four numbers as your answer:

> =
1. Tensions and sometimes conflict remain an issu \anﬂ between the 11 states in South East Asia (Brunei Darussalam, Cambodia,
Indonesia, Laos, Malaysia, Myanmar, the Philippines, Smgaﬁore Thailand, Timor-Leste and Vietnam).
2. China's rise as a regional military power agd its claims in the' South China Sea have become an increasingly pressing security
concern for many South East Asian states £ /-"
3. Since the 1990s, the security enwronnteht of South East Asia has seen both continuity and profound changes.
4. These concerns cause states from outside the regloghb take an active interest in South East Asian security.
\\ ///

Answer:3124

~

Explanation: '::H g

Statement (3) introduces the ¢‘qre mefs‘sége the continuing concerns in the region of South-East Asia. It highlights that since the 1990s
there have been dynamic chahges m(the se¢ irity environment of this region. Statment (1) adds details by listing the countries present in
this region and the existing enwronrjngnt rlfe jvlth tension/conflict {a transition from the 1990s into the present world}. Statement (2)
continues on this line and cites an evenimfhls regard: China becoming a pressing security concern for the regional countries. Statement
(4) puts a cap on this dlscussmn by indicating that the persisting regional instability attracts entities from outside the region. Hence, (3)-
(1)-(2)-(4) forms a c%}é{"egt arrangement.

N Y
\_‘5\\\\.‘
4
.‘f 3
&
‘.F
|
\ |
\'\. \ '). /
\ N A 4
~

Downloaded from cracku.in


https://cracku.in

Question 25 //" A [ // \‘\

Five jumbled up sentences, related to a topic, are given below. Four of/th n1‘ canbe puttggethé} to form a coherent paragraph. Identify
the odd one out and key in the number of the sentence as your answe’r / 4 J_ﬁf ( -

; . 77
1. Talk was the most common way for enslaved men and women to subv the rules of\}t\heir bondage, to gain more agency than they
were supposed to have. \ \: g ,//
2. Even in conditions of extreme violence and unfreedom, their words remalned ui?lqmtous ephemeral, irrepressible, and potentially
transgressive.
3. Slaves came from societies in which oaths, orations, and |nvocat|ons carrled great potency, both between people and as a

connection to the all-powerful spirit world. .
4. Freedom of speech and the power to silence may have been preemlnent riers of white liberty in Colonies, but at the same time,
slavery depended on dialogue: slaves could never be complete!Y muted. }

5. Slave-owners obsessed over slave talk, though they could neveﬁ*cohtfoﬁt yet feared its power to bind and inspire—for, as everyone
knew, oaths, whispers, and secret conversations bred consplracy and revolt.

\ '\
Answer:3 O \'\

Explanation: S,
Statements (1), (2), (4) and (5) discuss the aspect of how t\aﬂgnb/freedom of speech was a significant facet associated with the slaves.
They emphasise how this element was centralto slavery { "slaves could never be completely muted'}. Contrarily, Statment (3) goesona
tangential route that associates the potengzyfbf "oaths, orations, and invocations" based on the origin of the slaves {discusses "...a
connection to the all-powerful spirit WO/’/d \ "which is clealjy out of place}. Thus, Statement (3) is the odd-one-out here.

\ , /’

Dailyifree CAT Practice Tests

Question 26 ff-a.\
y T

The four sentences (labelled f 2,3, ,4) \elow -when properly sequenced would yield a coherent paragraph. Decide on the proper
sequencing of the order of the sentences anﬂ“key in the sequence of the four numbers as your answer:
l'\ \\_ A ,f’

1. Man has used pmsons for assassination purposes ever since the dawn of civilization, against individual enemies but also
occasionally against armles
2. These dangers wefe 'soon recognized, and resulted in two international declarations—in 1874 in Brussels and in 1899 in The Hague—
that prohibited the uhfpgisoned weapons.
3. The foundation of mlcrobldlog:y by Louis Pasteur and Robert Koch offered new prospects for those interested in biological weapons
because it allowed agents to be chosen and designed on a rational basis.
4. Though trea( ies were all made in good faith, they contained no means of control, and so fail

((
Answer:1324 i,-" /A

A N 4
=

Explanation:
Statement (1) serves as a general introduction to the topic: an inclination towards using poison {or associated agents}. The author
mentions that the utility of this element has existed since the dawn of civilization. Statment (3) supplements this idea by mentioning that
certain advancements served as a new avenue for the zealots of this subject. Statement (2) delineates on the safeguard that was put into
place once the threat posed by this domain was realized. Statement (4) plnpomts/the law in this safeguard. Hence, we notice that (1)-(3)-

(2)-(4) forms a logical arrangement. /

y —
CAT Syllabus (Dd ?Ioaél PDF) )

—

"/

LRDI Y 4=

Instructions / \)
t /\ { )

/

”

| -

In a certain board examination, students were to appear for exammatlon m‘fwe%u
English, Hindi, Mathematics, Science and Social Science. Due to a certain emergengty sﬂuation a few of the examinations could not be
conducted for some students. Hence, some students missed one 9xa\m|nat|on and some others missed two examinations. Nobody

.

missed more than two examinations. S

[,

= .

The board adopted the following policy for awarding marks to- students. If a %t Jent appeared in all five examinations, then the marks
awarded in each of the examinations were on the basis of the seqr“es obtaln/é by them in those examinations.
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If a student missed only one examination, then the marks awarded in that examination was the average of the best three among the four
scores in the examinations they appeared for.If a student missed two examinations, then the marks awarded in each of these
examinations was the average of the best two-ameng the three-scores in the examinations they appeared for. The marks obtained by six
students in the examination are given in the table belows.Each of them missed either one or two examinations.

English Hindi Mathematics | Science | Social Science
Alva 80 75 70 75 60
Bithi 90 80 55 85 85
Carl 75 80 90 100 90
Deep 70 90 100 a0 80
Esha 80 85 95 60 55
Foni 83 72 78 88 83

The following facts are also known:—.

I. Four of these students appeafed in gachief the English, Hindi, Science, and Social Science examinations.

Il. The student who missed the MathematicsieXamination did not miss any other examination.

Ill. One of the students who missed/the Hindi/examination did not miss any other examination. The other student who missed the Hindi
examination also missed the Science examination.

Question 27

Who among the foIIowi'n_g did not appear for the Mathematics examination?

A Alva
B Carl
C Foni

D Esha

Answer: B

Explanation: .

Based on Condition Il, we understand that the student who missed the Mathematics examination did not miss any other examination.
This indicates that the Maths score is bound to be the average of the best 3 out of the 4 exam scores obtained by this candidate. Based
on this inference, we can proceed with identifying the math score that cah be represented as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as potential candidates, given that their Mathematics scare is greater than the rest of the exam
scores. ‘ :

For Alva: best 3 out of 4 - 80(English), 75(Hindi), 75(Science)
Avg. = 230/3 = 76.67 £ 70
For Carl: best 3 out of 4 - 80(Hindi), 90(Social Science), 100(Science)

Avg. = 270/3 = 90 which matches the given value

.". Carl most likely missed his Mathematics examination.

For Foni: best 3 out of 4 - 83(English), 83(Social Science), 88(Seience)
Avg. = 254/3 = 84.67 £ 78 <

Hence, we observe that only Carl has missed his Mathematics examination. Hence, Option B is the correct answer.

Free Videosfor CAT Preparation
Question 28 .

Which students did not appear for the English:examination?

A Carl and Deep
B Cannot be determined

C  Alva and Bithi
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Esha and Foni ] /'!f \) 7
t /
Answer: D \:‘;—7

Explanation:
Based on Condition Il, understand that the student who missed the Mathematics examination did not miss any other examination.
This indicates that the Math e is bound to be the average of the best 3 out of the 4 exam scores obtained by this candidate. Based
on this inference, we can proceed with identifying the math score that can be represented as an average of the rest of the scores. We can
straightaway,é}iﬁinate Deep and Esha as potential candidates, given that their Mathematics score is greater than the rest of the exam
scores. Aft éstimating th%average scores for the rest of the candidates, we observe that only Carl has missed his Mathematics
examination. | F

b ;.-"
WO(Hindi), 90(Social Science), 100(Science)

D

For Carl: best

Avg. = 270/3 = 90 which matches the given value

*. Carl missed his Mathematics examination.

Further, based on Condition Ill, we can surmise that the student who missed Hindi a
these two subjects. We notice that Alva has the same score of 75 in both Hindi and Science. The same can be said about Deep, who has
a score of 90 in both these subjects. Thus, one out of Alva and Deep missed gufon indi and Science examination, while the second
individual missed out only on the Hindi examination. y

e
English ﬂém we|can divert our attention to determining
owever, Wé\@tlc at Bithi's English score is greater than

Science should have similar average scores in

Since we know that Carl, Alva and Deep are unlikely to have missed out on
which individual out of Bithi, Esha and Foni failed to appear for this subject.
the rest of her scores, thereby helping us eliminate her as the potential ca

/ —
For Esha: best 3 out of 4 - 85(Hindi), 95(Mathematics), 60(Science) / / >
Avg. = 240/3 = 80 which matches the given value d ‘\f.& _
. —
*. Esha most likely missed her English examination. \

For Foni: best 3 out of 4 - 78(Mathematics), 83(Social Science), 88(/§&éng_e)
Avg. = 249/3 = 83 which matches the given value
. Foni most likely missed her English examination. x \\ )
Based on Condition |, we know that exactly two candidates missed the~exan’1/nat|ons for English, Hindi, Science, and Social Science.

For English, we determined these individuals to be Eshq’ nd Foni. For Hindi, we determined these individuals to be Alva and Deep. For
Science, we know one of the individuals is ez(he[ Alvao eep Given that Carl, Alva and Deep cannot be a part of the group that missed
Science or Social Science exam, we can proceeELQ ‘C.\ lyscrﬁﬁ—?lng the rest of the group that includes Bithi, Esha and Foni.

We notice that Bithi has a similar score in both SC|ence S\(:lal Science examination. Assuming that she did miss these exams, let us
proceed to check if this was actually the case. 2D

For Bithi: Best 2 out 3 - 90(English), 80(Hind1f>

Avg = 170/2 = 85 which matches the give {alue f-;

*. Bithi is likely to have missed her Scienc éng\Socigl- ience examinations.
<

We additionally notice that Foni has a similar score in English and Social Science. On considering the best 2 out of 3 scores, the average
value of the score for both the sugg:iholds (equal to 83). Thus, we can conclude that Bithi and Foni missed their Social Science

examination. //—\ D
™
Thus, the students who mlssegrjust’b]ﬁe ex rT\Were: Carl (Mathematics); Esha (English) and one out of Alva and Deep (Hindi).

Hence of the six students, we can csb\rﬁ itljjetermine the missed subjects for four of them (except Alva and Deep):
Mathematics: Carl ; EnPT}sh: Esha & Foni; Hindi: Alva & Deep; Science: Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi
Hence, the correct a "er\to this question is Option D: Esha and Foni.

P

Question 29

~

.

&
What BEST can-be concluded about the students who did not appear for the Hindi examination?
y’
&Y
'

A Deep an(J(Esha [l

B AlvaandD
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c Alva and Esha

D Two among Alva, Deep and Esha /

Answer: B /
///:

Explanation:
Based on Condition I, we understand that the student who missed the Ma did not miss any other examination.
This indicates that the Maths score is bound to be the average of the best 3/out of the cores obtained by this candidate. Based
on this inference, we can proceed with identifying the math score tha ca rep;f as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as potential candidates, give t

scores. After estimating the average scores for the rest of the candldfa{z

| B
examination.

For Carl: best 3 out of 4 - 80(Hindi), 90(Social Science), 100(Scienc&

G

Avg. = 270/3 = 90 which matches the given value

.*. Carl missed his Mathematics examination.

Further, based on Condition Ill, we can surmise that the student\rm indi and Science should have similar average scores in
these two subjects. We notice that Alva has the same score of 75 in bo indi and Science. The same can be said about Deep, who has
a score of 90 in both these subjects. Thus, one out of ,\V\Y:i)eep missed out on Hindi and Science examination, while the second

™~

individual missed out only on the Hindi exa
Since we know that Carl, Alva and Deep are unli \q t on the English exam, we can divert our attention to determining
which individual out of Bithi, Esha and Foni failed to appe ﬂ or thls subject. However, we notice that Bithi's English score is greater than

the rest of her scores, thereby helping us eliminate her as t entlal candidate.

For Esha: best 3 out of 4 - 85(Hindi), 95 Math/e}natlcs ), 60(Science)

.". Esha most likely missed her English ex \ i e;t:);j
For Foni: best 3 out of 4 - 78(Mathematics), 83(Soeial Science), 88(Science)
Avg. = 249/3 = 83 which matches Wen value

. Foni most likely missed he@/@kﬁmmatlon

U
Based on Condition |, we know that j(actly a\;o candidates missed the examinations for English, Hindi, Science, and Social Science.

Avg. = 240/3 = 80 which matches the giv f{value

For English, we determined these |nt§m_u,aféto be Esha and Foni. For Hindi, we determined these individuals to be Alva and Deep. For
Science, we know one ﬁf?the individuals is either Alva or Deep. Given that Carl, Alva and Deep cannot be a part of the group that missed
Science or Social Sci 'e\exam, we can proceed by carefully scrutinizing the rest of the group that includes Bithi, Esha and Foni.

We notice that Bithi has a \ r score in both Science and Social Science examination. Assuming that she did miss these exams, let us
proceed to check if this was actually the case.

For Bithi: Bes,t’?’éut 3 - 90(English), 80(Hindi)
Avg =170/ {85 which mﬁtphes the given value
. Bithiis Ilk\e{Y tQ have mjssed her Science and Social Science examinations.

We additionally notlce that Foni has a similar score in English and Social Science. On considering the best 2 out of 3 scores, the average
value of the score for both the subject holds (equal to 83). Thus, we can conclude that Bithi and Foni missed their Social Science
examination.

Thus, the students who missed just one exam were: Carl (Mathematics); Esha ( Eng/sh ) and one out of Alva and Deep (Hindi).
Hence of the six students, we can correctly determine the missed subjects for f r of them (except Alva and Deep):

Mathematics: Carl ; English: Esha & Foni ; Hindi: Alva & Deep; Science: Blt & one out of Alya/a&nd Deep ; Social Science: Foni & Bithi

Hence, the correct answer to this question is Option B: Alva and Deep. Q
Question 30
xam

What BEST can be concluded about the students who missed the Sc nc

A Bithi and one out of Alva and Deep
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B Alva and Bithi 4\&

\\\\?
C Deep and Bithi y )“
S5
T~
D Alvaand Deep ~E==
Answer: A {

Explanation: Q

Based on Condition I, we understand that the stude imissed the Mathematics examination did not miss any other examination.
This indicates that the Maths score is bound to be the av f the best 3 out of the 4 exam scores obtained by this candidate. Based
on this inference, we can proceed with identi/}%ing the math score that can be represented as an average of the rest of the scores. We can

straightaway eliminate Deep and Esha as pgtential candidates, given that their Mathematics score is greater than the rest of the exam
scores. After estimating the average scor q’for the rest of the candidates, we observe that only Carl has missed his Mathematics
examination.

For Carl: best 3 out of 4 - 80(Hindi), 90(Soci \st_nce/’f,//oo Science)

Avg. = 270/3 = 90 which matches the given value

. Carl missed his Matheman%s’/e)ea/Wn

Further, based on Condition IIU\Ne zn sur hat the student who missed Hindi and Science should have similar average scores in
these two subjects. We notice that Alva has same score of 75 in both Hindi and Science. The same can be said about Deep, who has
a score of 90 in both these subjects. \_/G’ e out of Alva and Deep missed out on Hindi and Science examination, while the second
individual missed out olﬁly on the Hindi examination.

|

Since we know that "A\Iva and Deep are unlikely to have missed out on the English exam, we can divert our attention to determining
which individual out of Bithi;Esha and Foni failed to appear for this subject. However, we notice that Bithi's English score is greater than
the rest of her scores, thereby* h&jng us eliminate her as the potential candidate.

For Esha: besft«‘é‘“vout of 4 - 85(Hindi), 95(Mathematics), 60(Science)
Avg. = 240/% 80 which malches the given value

f'
.. Eshamo th’her English examination.
For Foni: best 3 0 - 78(Mathematics), 83(Social Science), 88(Science)
Avg. = 249/3 = 83 which matches the given value

*. Foni most likely missed her English examination.

Based on Condition |, we know that exactly two candidates missed the examinati9ré or English, Hindi, Science, and Social Science.

For English, we determined these individuals to be Esha and Foni. For Hindi, wé determined these individuals to be Alva and Deep. For
Science, we know one of the individuals is either Alva or Deep. Given that Carl, Alva and nnot be a part of the group that missed
Science or Social Science exam, we can proceed by carefully scrutinizing therest fthF{:jj t includes Bithi, Esha and Foni.

We notice that Bithi has a similar score in both Science and Social Scienc
proceed to check if this was actually the case.

g that she did miss these exams, let us

For Bithi: Best 2 out 3 - 90(English), 80(Hindi) /

Avg = 170/2 = 85 which matches the given value ‘ \,

. Bithi is likely to have missed her Science and Social Science examinations. \/

We additionally notice that Foni has a similar score in English and é%rqa&gence On considering the best 2 out of 3 scores, the average
value of the score for both the subject holds (equal to 83). Thus, we can Me that Bithi and Foni missed their Social Science
examination.

Thus, the students who missed just one exam were: Carl (Math%a\m) (English) and one out of Alva and Deep (Hindi).
Hence of the six students, we can correctly determine the missed subjects for four of them (except Alva and Deep):

Mathematics: Carl ; English: Esha & Foni; &;Alva &‘" ep; Science: Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi

= D
-~

Hence, the correct answer to this question is O W F&gﬂﬂof Alva and Deep.
S =
A

D>
Best OnIiné\Coaching for CAT

/ rf’/’ m
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Question 31 g\ B
Y,
How many out of these six students missed exactly one examination?

Answer:3 —_—
—
By e
.r/ /,."\\_ "‘xﬁ

Explanation: L A\
Based on Condition I, we understaqdlthat tl’u student who missed the Mathematics examination did not miss any other examination.
This indicates that the Maths score 'i's bou'ﬁdto be the average of the best 3 out of the 4 exam scores obtained by this candidate. Based
on this inference, we cafvproceed with |dent|fy|ng the math score that can be represented as an average of the rest of the scores. We can
straightaway eliminate'Deep and Esha as potential candidates, given that their Mathematics score is greater than the rest of the exam
scores. After estlmamaverage scores for the rest of the candidates, we observe that only Carl has missed his Mathematics
examination. W

-~

.

T~
For Carl: best 3?Ut of 4 - 80(Hindi), 90(Social Science), 100(Science)
Avg. =270/ £ 90 which matches the given value
*. Carl missed his Matherﬁlatlcs examination.

Further, based\m\ ondition Ill, we can surmise that the student who missed Hindi and Science should have similar average scores in
these two subjects. We notice that Alva has the same score of 75 in both Hindi and Science. The same can be said about Deep, who has
a score of 90 in both these subjects. Thus, one out of Alva and Deep missed out on Hindi and Science examination, while the second
individual missed out only on the Hindi examination.

Since we know that Carl, Alva and Deep are unlikely to have missed out on the Englishiexam, we can divert our attention to determining
which individual out of Bithi, Esha and Foni failed to appear for this subject. HoweVer,/ we notice that Bithi's English score is greater than
the rest of her scores, thereby helping us eliminate her as the potential candi

For Esha: best 3 out of 4 - 85(Hindi), 95(Mathematics), 60(Science)

Avg. = 240/3 = 80 which matches the given value
.". Esha most likely missed her English examination.
For Foni: best 3 out of 4 - 78(Mathematics), 83(Social Science), 88( S |e

Avg. = 249/3 = 83 which matches the given value
*. Foni most likely missed her English examination.
Based on Condition I, we know that exactly two candidates missed%@aminations for English, Hindi, Science, and Social Science.

For English, we determined these individuals to be Esha and Foni. For Hindi, etermined these individuals to be Alva and Deep. For
Science, we know one of the individuals is either Alva or Deep. Given that Carl,/Alva and Deep cannot be a part of the group that missed
Science or Social Science exam, we can proceed by carefully scﬁﬁm i est of the group that includes Bithi, Esha and Foni.

We notice that Bithi has a similar score in both Science and Social Science examination. Assuming that she did miss these exams, let us
proceed to check if this was actually the case.

For Bithi: Best 2 out 3 - 90(English), 80( H|nd|Q\\

Avg = 170/2 = 85 which matches the given value

*. Bithi is likely to have missed her Science and Social Science-€xaminations.

F
Ly

We additionally notice that Foni has a similar'score in English and Social Science. On considering the best 2 out of 3 scores, the average
value of the score for both the subject holds (equal to 83}7Thus we can conclude that Bithi and Foni missed their Social Science

examination. /

Thus, the students who missed just one exa \gr_eﬁéz(Mathematics); Esha (English) and one out of Alva and Deep (Hindi).

Hence of the six students, we can correctly determine the missed subjects for four of them (except Alva and Deep):

Mathematics: Carl ; English: E7I{a’&"_\lrllndl Alva & Deep; Science: Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi
Hence, the correct answer to tlils qqéétlon |~Trj§{0arl (Mathematics); Esha (English) and one out of Alva and Deep (Hindi)}

Question 32 t\\\_/

For how many studenti{ ¢an we be definite about which examinations they missed?

I\ I\.
N
Answer:4 “\

s
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Explanation: / /
Based on C r{dltlon I, we understand that the student who missed the Mathematics examination did not miss any other examination.
This indicates,that the Ma s score is bound to be the average of the best 3 out of the 4 exam scores obtained by this candidate. Based
on this infere cexwefcea?‘{/moceed with identifying the math score that can be represented as an average of the rest of the scores. We can
straightaway elimi eep and Esha as potential candidates, given that their Mathematics score is greater than the rest of the exam
scores. After estimating the average scores for the rest of the candidates, we observe that only Carl has missed his Mathematics
examination.

For Carl: best 3 out of 4 - 80(Hindi), 90(Social Science), 100(Science)
Avg. = 270/3 = 90 which matches the given value P

*. Carl missed his Mathematics examination. y

Further, based on Condition Ill, we can surmise that the student who mi ge indi
these two subjects. We notice that Alva has the same score of 75 in both Hindi a
a score of 90 in both these subjects. Thus, one out of Alva and Deep miss )}t on le)d
individual missed out only on the Hindi examination.

Since we know that Carl, Alva and Deep are unlikely to have missed u,t/ﬁn h \iegshj? , we can divert our attention to determining
which individual out of Bithi, Esha and Foni failed to appear for this subject\.l;l otice that Bithi's English score is greater than
the rest of her scores, thereby helping us eliminate her as the potential candlda

|ence ould have similar average scores in
ame can be said about Deep, who has
ience examination, while the second

For Esha: best 3 out of 4 - 85(Hindi), 95(Mathematics), 60(Science)(::§\_\

Avg. = 240/3 = 80 which matches the given value “-;: R
. Esha most likely missed her English examination. (_“\

For Foni: best 3 out of 4 - 78(Mathematics), 83(Social Science), S\(SCIG

Avg. = 249/3 = 83 which matches the given value

*. Foni most likely missed her English exa Q ion. \\ —

Based on Condition |, we know that exactly two ca rrm”sed the examinations for English, Hindi, Science, and Social Science.

For English, we determined these individuals to be Esha a\d{%n} For Hindi, we determined these individuals to be Alva and Deep. For
Science, we know one of the individuals is el/hgzr Alva or Deep. ‘Given that Carl, Alva and Deep cannot be a part of the group that missed
Science or Social Science exam, we can prgceed by carefully scrutinizing the rest of the group that includes Bithi, Esha and Foni.

We notice that Bithi has a similar score in b'gth Science a,h‘p Social Science examination. Assuming that she did miss these exams, let us
proceed to check if this was actually the ¢ e\

For Bithi: Best 2 out 3 - 90(English), 80(H|nd|) ——
Avg = 170/2 = 85 which matchespg\given value
. Bithi is likely to have mlsseﬁer S¢|én\8\é "and Social Science examinations.

We additionally notice that Fothjl has(;{smlle)r&ore in English and Social Science. On considering the best 2 out of 3 scores, the average
value of the score for both the subjeqw equal to 83). Thus, we can conclude that Bithi and Foni missed their Social Science
examination. £

Thus, the students thlriqissed just one exam were: Carl (Mathematics); Esha (English) and one out of Alva and Deep (Hindi).

Hence of the six student ,\\Worrectly determine the missed subjects for four of them (except Alva and Deep):

Mathematics: %rl ; English: Es\ﬁé“f& Foni ; Hindi: Alva & Deep; Science: Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi
Except for ?ﬁf;/;nd Deep, we can conclusively comment of the missed subjects of the rest four. Hence, the correct answer is 4.

Instruction

,F, G, H, | and J) are experts in at least one of the following three percussion instruments: tabla, mridangam,
and ghatam. Amo em, three are experts in tabla but not in mridangam or ghatam, another three are experts in mridangam but not in
tabla or ghatam, and one is an expert in ghatam but not in tabla or mridangam. Further, two are experts in tabla and mridangam but not in
ghatam, and one is an expert in tabla and ghatam but not in mridangam.

The following facts are known about these ten musicians. 9

1. Both A and B are experts in mridangam, but only one of them is also an exper 14 la
2. D is an expert in both tabla and ghatam.

3. Both F and G are experts in tabla, but only one of them is also an expertin mrida gam.«

4. Neither | nor J is an expert in tabla (
5. Neither H nor | is an expert in mridangam, but only one of them is an x# in atarQ\ 7
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Question 33 /f' . 4 ===

|7 — ( o
Who among the following is DEFINITELY an expert in tabla but not in eltl{er mmfﬁngam OX ghatam?
l /\
7N ‘; -
A F \ \J
B C NS ‘-7\\\\'
c A . ‘\\ r\.f]
¢ \.\\ ] J
\\“ \\ / /
D H T~ »‘?\,LV,.//.'
Answer: D
_1‘\ N ‘\v.‘ ‘\\.
Explanation: N \\\ J—

o
Based on the given information, we can form the followmg r\/enn dlagram for ease of understanding:

A\

Ghatam Tabla

ava

Mridangam

The conditions help us to fUnhéT»bifurcate the individuals based on their expertise.
Mridangam: A, and B (condition 1) one out of F and G (condition 3)

Tabla: one OrUt of AandB (condltlon 1); F and G (condition 3); D (condition 2)
Ghatam: D (Iqondltlon 2)

/ :

Based on cond”hanz we infer that I and 'J' are either experts in Ghatam or Mridangam. However, condition 5 adds that 'I'is not an expert
in Mridangam. This helps us definitively zero-in on 'l' as an expert in Ghatam. Since 'l' is a Ghatam expert, J is an expert in Mridangam and
'H'is an expert in Tabla [based on conditions 4 and 5]. Thus, we can depict our understanding so far as follows:

IR R [ [

Tabla

AorB; D;FandG; H; CorE

One out of each A/B + F/G |

[ L Jla]*

Mridangam

‘AandB;ForG;J; CorE |

Mridangam [total: 5] - A and B (condition 1); one out of F'and G (condition 3); J (condition 4 and 5); one out of C and E {remaining experts}
P \ “.

Downloaded from cracku.in


https://cracku.in

Tabla [total: 6] - one out of A and B (condition T); \and\G&(\eonﬁ"’, dition 3); D (condition 2); H (condition 4 and 5); one out of C and E
{remaining experts}

Ghatam [total: 2] - D (condition 2); | (condition 4 and 5)

/>
Thus, we observe that H is definitely an expert in tabla but not in either mridangam or ghatam. Hence, Option D is the correct answer.

A B ({

v

C G X\
‘\
D E Y

s
Answer:B /"

Explanation (\ £/
Based on the ‘We@gf%z/‘r/létion, we can form the following Venn-diagram for ease of understanding:

Ghatam Tabla

ava

Mridangam

A
The conditions help us to further bifurcate the individuals based on theire

Mridangam: A and B (condition 1); one out of F and G ( condltz?n 3)
Tabla: one out of A and B (condition 1); F and G (condition 3); D (c (\o;a\dmon;/

Ghatam: D (condition 2)

Based on condition 4, we infer that 'l' and 'J elther e erts in Ghatam or Mridangam. However, condition 5 adds that 'l' is not an expert
in Mridangam. This helps us definitively zer h\lﬁﬁ;‘h experﬁn‘Ghatam Since 'l'is a Ghatam expert, J is an expert in Mridangam and
'H'is an expert in Tabla [based on conditions 4 and s we can depict our understanding so far as follows:
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Tabla

'AorB; D;FandG; H; CorE

One out of each A/B + FIG |

[ 100

Mridangam

‘AandB;ForG;J; CorE |

/ J

Mridangam [total: 5] - A and B (condition 1); one out of F and G (condltion é) J{condmé[a 4 and 5) one out of C and E {remaining experts}

Tabla [total: 6] - one out of A and B (condition 1); F and G (condition 3) D (conquﬁ 2); HYﬁ:ondltlon 4 and 5); one out of C and E

{remaining experts} &7\ \\ W\ /)

AN

Ghatam [total: 2] - D (condition 2); | (condition 4 and 5) e S
\ )
Thus, we observe that J is definitely an expert in mridangam but not.in either tabla or ghatam. Hence, Option B is the correct answer.

™S

Question 35 N b,

. \\;

Which of the following pairs CANNOT have any musician who.is an expert |rl I‘oo’fh tabla and mridangam but not in ghatam?

N, ‘,' /
A FandG o
B CandE

C AandB =
D CandF W

Answer: B

Explanation: \ A /
Based on the given information, we can form‘the foIIowmg Venn-diagram for ease of understanding:

Ghatam Tabla

ava

Mridangam

o

The conditions help us to further bifurcate the individuals based on their expertise.

Mridangam: A and B (condition 1); one out of F and G (condition 3)
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Tabla: one out of A and B (condition 1); F and G (condition 3); D (condition 2) //,.

Ghatam: D (condition 2) /
Based on condition 4, we infer that 'I'and 'J' are either experts in Ghatam of Mridangam. How@gr condition 5 adds that 'l' is not an expert
in Mridangam. This helps us definitively zero-in on 'I' as an expert in Ghatam.Since'l' is {Ghate;)?)expert Jis an expert in Mridangam and
'H'is an expert in Tabla [based on conditions 4 and 5]. Thus, we can de ict/o/ZAr un erstih{ng S > ar as follows:

[, 7

One out of each A/B + F/G |

Mridangam

‘AandB; ForG;J; CorE |

' f
Mridangam [total: 5] - A and B (condition ‘S\Q ne out off/ 7nd G (condition 3); J (condition 4 and 5); one out of C and E {remaining experts}

Tabla [total: 6] - one out of A and B (condition\H;L"( G (condition 3); D (condition 2); H (condition 4 and 5); one out of C and E
{remaining experts}

Ghatam [total: 2] - D (condition eorrduon 4 and 5)

LG
We observe that the pair C anLJ E cafmot ha e\ﬁny musician who is an expert in both tabla and mridangam but not in ghatam. Hence,

Option B is the correct answer. l

f/\?

If Cis an expert in mm{dngam and F is not, then which are the three musicians who are experts in tabla but not in either mridangam or

ghatam? '\
A E FandH /:,

r,
r.
FAY.

(/
C,G anq I-ﬁ R
\ .r'llf"

/

E, G andw/

D CEandG

(¢}

Answer: A

Explanation:
Based on the given information, we can form the following Venn-diagram fcyzse of/understanding:

/(
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ava

Mridangam

The conditions help us to b|furca’te the mdlwduals based on their expertise -
Mridangam: A and B (condltlcm 1); o‘nle out df|F and G (condition 3)

Tabla: one out of A and B (condltlon‘1) £ and G (condition 3); D (condition 2)
Ghatam: D (condition 26

Based on condition 4 we mfer that 'l'and 'J' are either experts in Ghatam or Mridangam. However, condition 5 adds that 'I' is not an expert
in Mridangam. This helps us defmltlvely zero-in on'l' as an expert in Ghatam. Since 'l' is a Ghatam expert, J is an expert in Mridangam,
and 'H'is an expert in Tabla [based on conditions 4 and 5]. Thus, we can depict our understanding so far as follows:

0 B omoO

Tabla

AorB; D;FandG; H; CorE

One out of each A/B + FIG |

[ Il]*

Mridangam

‘AandB;ForG;J; CorE |

Mridangam [total: 5] - A and B (condition 1); one out of F and G (coﬁd"tiqn 3)' J (condition 4 and 5); one out of C and E {remaining experts}

Tabla [total: 6] - one out of A and B (condition 1); F and G (condition 3); D?Don\d%on 2); H (condition 4 and 5); one out of C and E
{remaining experts} . }
S /A

~

Ghatam [total: 2] - D (condition 2); | (condition 4 and 5) ‘\\_\j-\.,k_//

If Cis an expert in Mridangam, E has to be an expert in Tabla. Additionally, if F is not an expert in Mridangam, he has to be an expert only
in Tabla while G will be an expert in both Tabla and Mrlda\ngam
Tabla [total: 6] - one out of A and B (condltlon‘1QFand Q( Q,ndltern'B) D (condition 2); H (condition 4 and 5); E {based on the condition

given in the question} o\

Of these experts, A, B and G are experts of Mridangam an\d'D:ié‘\gn expert of Ghatam as well. Thus, excluding these, we have F, H and E
who are the experts solely in Tabla. Thus, Opfpiqn A is the correct answer.

Important Verbal Ablllty Questions for CAT (Download PDF)

/

‘\
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Instructions

The local office of the APP-CAB company evaluates the performance of five cab drivers, Arun, Barun, Chandan, Damodaran, and Eman for
their monthly payment based oh'ratings-infive different parameters (P1 to P5) as given below:

P1: timely arrival

P2: behaviour

P3: comfortable ride :

P4: driver's familiarity with the route

P5: value for money

Based on feedback from the.customers, the office assigns a rating from 1 to 5 in each of these parameters. Each rating is an integer
from a low value of 1 to a high valde of 5. The final rating of a driver is the average of his ratings in these five parameters. The monthly
payment of the drivers has two parts - a fixed payment and final rating-based bonus. If a driver gets a rating of 1 in any of the parameters,
he is not eligible to get bonus. To be eligible for bonus a driver also needs to get a rating of five in at least one of the parameters. The
partial information related td the ratings of the drivers in different parameters and the monthly payment structure (in rupees) is given in
the table below:

P1 P2 P3 P4 PS5 |Fixed Payment Bonus
Arun 4 Fs.1000 Rs.250= Final Rating
Barun 3 Rs.1200 Rs.200= Final Rating
Chandan 2 Fs.1400 Rs.100= Final Rating
Damodaran 3 Rs.1300 Rs.150= Final Rating
Eman 2 Fs.1100 Rs.200= Final Rating

The following additional facts are known.
1. Arun and Barun have got a rating of 5 in exactly one of the parameters. Chandan has got a rating of 5 in exactly two parameters.
2. None of drivers has got the same rating in three parameters. '

Question 37

If Damodaran does not get a bonus, what is the maximum possible value of his final rating?

A 34
B 32
C 36

D 38
Answer: C
Explanation: O\
Based on the given conditions, Damodaran misses out-en the bonus if he gets a rating of 1 in any of the five parameters. He additionally
needs to obtain a rating of 5 in at least one of the parameters. Thus, the maximum value of the range of ratings that he can acquire would

be 1+3(given)+5+5+5. However, based on condition 2, he can have similar ratings in only two of the parameters. Thus, the maximum
value of the final rating would be (1+3+5+544) /5 = 18/5 = 3.6. Hence, Option C is the correct answer.

Question 38

If Eman gets a bonus, what is the minimum-possible.value of his final rating?

A 32
B 28
C 34

D 3.0

Answer: D

Explanation:
Since Eman got a bonus, he must have obtained a rating of 5 in at least one of the parameters. To minimize his final rating we need to
consider the following range, of values: 5(mandatory)+2(given)+2+3+3 = 15. The least value of his final rating is, therefore, 15/5 = 3.
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Hence, Opti ﬁ'@W&bt answer.
Question 39

If all five drivers get bonus, what is the minimum possible value of the monthly payment (in rupees) that a driver gets?

A 1750
B 1600
C 1740 /

D 1700

Answer: D

Explanation:

Our objective here is to minimize the final ratings in order to find the minimum
1 in any of the parameters since all the drives got the bonus and we.need to hav
understanding, we obtain the following:

|ue of the monthly payment. We cannot have a rating of
t least one parameter with a rating of 5. With this

s
Aru

=

Final rating = (5+4+2+2+3)/5 = 16/5 = 3.2; Fixed payment = Rs:
Variable payment = 3.2 * Rs. 250 = Rs.800 ; Total = Rs.(1000+800) =

Barun:

Final rating = (5+3+2+2+3)/5 = 15/5 = 3; Fix
Variable payment = 3 * Rs. 200 = Rs.600 ; Total =

Final rating = (5+5+2+2+3)/5=17/5 = 3.4; Efy/@d payment = Rs.1400
;/Total = Rs.(1400+340) = Rs. 1740

\
Qo

Final rating = (5+3+2+2+3)/5 = 15/5 = 3; Fixed payment = Rs.1300
Variable payment =3 *Rs. 150 = Wotal = Rs.(1300+450) = Rs. 1750

(/\ a s

Variable payment = 3.4 * Rs. 100 = Rs.34

Damodaran:

Eman:

Frogd s ok
Final rating = (5+3+2+2+3)/5 = 15/5 = 3; Fixed payment = Rs.1100

Variable payment = 3 * R?s. 200 = Rs. tal = Rs.(1100+600) = Rs. 1700

B
Hence, we observe trg&wum value of the monthly payment is Rs. 1700. Option D is the correct answer.

A

& CAT Percentile Predictor
Question 4q/ #]

If all five dri%ggt_b)c?zs{ what is the maximum possible value of the monthly payment (in rupees) that a driver gets?

A 1960
B 2050
y’
C 1950 //
D 1900
Answer: A /_)03
Explanation: //—x.
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Our objective here is to maximize the final ratings in order to find thez{;nékl ssible value of the monthly payment. We cannot have
arating of 1 in any of the parameters since all the drives got the bonus an&\we\ ed-to-have at least one parameter with a rating of 5.
With this understanding, we obtain the following: \

Arun: {can have only one rating of 5 based on condition 1} Q\
Final rating = (5+4+4+3+3)/5 = 19/5 = 3.8; Fixed payment = Rs.1000 -

Variable payment = 3.8 * Rs. 250 = Rs.950 ; Total = Rs.(1000

Barun: {can have only one rating of 5 based on condition 1} <

Final rating = (5+4+4+3+3)/5 = 19/5 = 3.8; Fixed payment = Rs.1200

Variable payment = 3.8 * Rs. 200 = Rs.760 ; %I = Rs.(1200+760) = Rs. 1960
Chandan: 3 x —_

Final rating = (5+5+2+4+4)/5 = 20/5 = 4, Fixed payme:t\:\R&O)O

Variable payment = 4 * Rs. 100 = Rs.400; T9/t//‘;at = Rs.(1400+400) = Rs. 1800

Damodaran: {

Final rating = (5+5+4+4+3)/5=21/5= 4.2, =Rs.1300
Variable payment = 4.2 * Rs. 150 = Rs.630 ; T

Eman:

Final rating = (5+5+2+4+4)/5 @e@\payment =Rs.1100

Variable payment = 4 * Rs. 200 = Rs 8(00 ; T§ = Rs.(1100+800) = Rs. 1900
Hence, we observe that the maximu\rh)ess/ le value of the monthly payment is Rs. 1960. Option A is the correct answer.
Instructions P‘

N\

1000 patients curren I}figring from a disease were selected to study the effectiveness of treatment of four types of medicines — A, B,
C and D. These patients wi irst randomly assigned into two groups of equal size, called treatment group and control group. The
patients in the control group werehot treated with any of these medicines; instead they were given a dummy medicine, called placebo,
.. A . . . . . .
containing only sugar and starch. The following information is known about the patients in the treatment group.
{d

a. A total of(z 0 patients were treated with type A medicine and a total of 210 patients were treated with type C medicine.

b. 25 patien ere treated with type A medicine only. 20 patients were treated with type C medicine only. 10 patients were treated with
type D medicine.only:

c. 35 patients were treated with type A and type D medicines only. 20 patients were treated with type A and type B medicines only. 30
patients were treated with type A and type C medicines only. 20 patients were treated with type C and type D medicines only.

d. 100 patients were treated with exactly three types of medicines.

e. 40 patients were treated with medicines of types A, B and C, but not with medicines of type D. 20 patients were treated with medicines
of types A, C and D, but not with medicines of type B.

f. 50 patients were given all the four types of medicines. 75 patients were treat

with exactly one type of medicine.
Question 41

How many patients were treated with medicine type B?

Answer:340

Explanation: /\m
Of the 1000 subjects, only 500 have been considered for the treatment. This-consti ur sample set. Thus the four drugs- A, B, C and
D have been administered to this set of 500 individuals, while the rest 500 have been given the placebo. Based on the given information,

we can then draw the following 4-set Venn diagram: Q\
Q\ >

-
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30 40 20 C | 210
20 50 20
35 10 D

\
We can sol\q"effor the numbe( of patients who were administered the drugs A, B and D excluding C by putting in the values for set A. The
required valt;lé-‘= 250 - (25}’20+30+40+20+50+35) = 30. Based on condition (c), we know that 100 patients were treated with exactly three
types of med"l“cﬁj'e&_'[hug; we can fill the slot for the number of patients who were administered only B, C and D excluding A by 100 -
(40+20+30)=10.

Similarly, based on condition (f), we know that the candidates who were administered only dug B are 75 - (25+20+10) = 20. Post this, we
can easily calculate the number of people administered with only drugs B and C by 210 - (30+20+40+50+10+20+20) = 20. We can fill in

the above values to obtain the following diagram: P

250 A B

25 20 20

30 40 20 | 20 c 210
20 50 10 | 20
35 30 X 10 B

The sum of all the values should add up to S(R)rdg\sg)\lvih\gfor—'x':[\_ﬁhjéh represents the number of people who were administered drugs B
and D only], we obtain x = 150. The final representation'would appear as follows:

~)
~/

~—)
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250 A B | 340

30 40 20 20 c | 210
20 50 10 20
10 D

35 30 150 | 325

£

Based on the above, the number of patients who were treated with médic(né typle)_’s"'is*éq-i_]al to 340.
0 :‘
Question 42 v NN

= = d

The number of patients who were treated with medicine types B, C and D, butwhot‘i;ilpév.A was:

Answer:10
\\ \‘ 7

I

Explanation: O
Of the 1000 subjects, only 500 have been considered for the tré?a‘trhfént,__Tbi__sfi;:bnstitutes our sample set. Thus the four drugs- A, B, C and

D have been administered to this set of 500 individuals, while the rest 500-have been given the placebo. Based on the given information,
we can then draw the following 4-set Venn diagram:

250 | A B
30 40 20 c | 210
20 50 20
35 10 D

We can solve for the number Sf"pé‘tients who were administered the drugs A, B and D excluding C by putting in the values for set A. The
required valuge--'§—250 - (25+20+30+40+20+50+35) = 30. Based on condition (c), we know that 100 patients were treated with exactly three
types of megl'ic'/ines. Thus, we can fill the slot for the number of patients who were administered only B, C and D excluding A by 100 -
(40+20+30n{1o. i
Similarly, baé'e{j Qn‘ggn,ditilo'n (), we know that the candidates who were administered only dug B are 75 - (25+20+10) = 20. Post this, we
can easily calculate the number of people administered with only drugs B and C by 210 - (30+20+40+50+10+20+20) = 20. We can fill in

the above values to obtain the following diagram:
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250 A B

30 40 20 | 20 c [ 210
20 50 10 | 20
35 30 x 10 B

The sum of all the values should add up to 500. On solving fdt’fx'/[which represents the number of people who were administered drugs B
and D only], we obtain x = 150. The final representation would appear as follows:

250 A B | 340

30 40 20 20 c | 210
20 | s0 | 10 | 20
35 | 30 | 150 | 10 P 325

T

The number of b'étient's't/vho were treated with medicine types B, C and D, but not type A was: 10.

About CAT exam
Question 43 A
How many patients were treated with medicine types B and D only? ’;"
Answer:150 N ;; i A
| ‘f ' \ ’
Explanation: / ! | £~

/ el
Of the 1000 subjects, only 500 have been considered for the treatment Thls constrtutes éur sample set. Thus the four drugs- A, B, C and

D have been administered to this set of 500 individuals, while the rest 500 haye been glven‘the placebo. Based on the given information,
we can then draw the following 4-set Venn diagram: \ ~ 4

Downloaded from cracku.in


https://cracku.in/cat
https://cracku.in

250 A B

30 40 20 C | 210
20 50 20
35 10 D

We can solve for the number of patients who were administered the drugs A, B and D excluding C by putting in the values for set A. The
required value = 250 - bﬁ+20+30+40+20+50+35) 30. Based on condition (c), we know that 100 patients were treated with exactly three
types of medicines. Thus, we' ea\n f||| the slot for the number of patients who were administered only B, C and D excluding A by 100 -
(40+20+30) = 10

Similarly, baSed on condition (f), we know that the candidates who were administered only dug B are 75 - (25+20+10) = 20. Post this, we
can easily c{alculate the number of people administered with only drugs B and C by 210 - (30+20+40+50+10+20+20) = 20. We can fill in
the above values to obtaln the following diagram:

250 A B

25 20 20

30 40 20 | 20 c 210
20 50 10 | 20
35 30 X 10 B

£ 1

The sum of all the values should add up to 500. On solving for 'x{whlch reg)_r/é"éents the number of people who were administered drugs B
and D only], we obtain x = 150. The final representation would appear-as follows:
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250 A B | 340

30 40 20 20 c | 210
20 50 10 20
35 | 30 | 150 | 10 P 325
The number of people who were administered drugs B and D only were 150// / N
A / ==
Question 44 [ = | & "x.,_‘\
[ | W ))
The number of patients who were treated with medicine type D was: [ / / /,/ ‘->‘x\ Y. )
[ /" //.‘ [ —
| | 4 /’;t (
Answer:325 / Y 7 N D
J \ (] \ \
5 /\‘--_\" N r\_ \ ,t; 7
Explanation: & f\‘\ N/

Of the 1000 subjects, only 500 have been considered for the treatment. This constmutes our sample set. Thus the four drugs- A, B, C and
D have been administered to this set of 500 individuals, while the resI\SOO have been given the placebo. Based on the given information,
we can then draw the following 4-set Venn diagram: =

O

250 | A B
30 40 20 Cc | 210
20 50 20
35 10 o

[ J')
We can solve for the number of patil'c-,.}ﬁts,_wh’:_o’#were administered the drugs A, B and D excluding C by putting in the values for set A. The
required value = 250 - (g§+20+30+40¥20¥50+35) = 30. Based on condition (c), we know that 100 patients were treated with exactly three
types of medicines. Thus we can fill the slot for the number of patients who were administered only B, C and D excluding A by 100 -
(40+20+30) = 10. :\
Similarly, based on condit\i‘én‘( ;we know that the candidates who were administered only dug B are 75 - (25+20+10) = 20. Post this, we
can easily calculate the number "people administered with only drugs B and C by 210 - (30+20+40+50+10+20+20) = 20. We can fill in

the above vaIUes to obtain the following diagram:
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30 40 20 | 20 c [ 210
20 50 10 | 20
35 30 x 10 B

The sum of all the values should add up to 500. On solving for 'x' [\)'\'ihic'_[i_'_'reﬁré'sents the number of people who were administered drugs B
and D only], we obtain x = 150. The final representation _yyould appear as follows:

L

250 A B | 340

30 40 20 20 Cc | 210
20 | 50 | 10 | 20
35 [ 30 [1s0 | 10 ) P 335

G -
. -

The number of patients who Weiié‘_treated with medicine type D was 325.

Instructions /"

Four institu /e§ A B, C, andl.D, had contracts with four vendors W, X, Y, and Z during the ten calendar years from 2010 to 2019. The

contracts wqﬁe_‘either muLtijyear contracts running for several consecutive years or single-year contracts. No institute had more than one

contract with the-sameiendor. However, in a calendar year, an institute may have had contracts with multiple vendors, and a vendor may
”

have had contracts with multiple institutes. It is known that over the decade, the institutes each got into two contracts with two of these

vendors, and each vendor got into two contracts with two of these institutes.

The following facts are also known about these contracts.

I. Vendor Z had at least one contract in every year. A

Il. Vendor X had one or more contracts in every year up to 2015, but no contract,jr(ané year after that.

Ill. Vendor Y had contracts in 2010 and 2019. Vendor W had contracts onlyp2'01 2.

IV. There were five contracts in 2012. A / ==

V. There were exactly four multi-year contracts. Institute B had a 7-year gﬁon ct, D/had,’é{4—yea?‘-pbntract, and A and C had one 3-year

contract each. The other four contracts were single-year contracts. //‘ ‘ ’,// \ //‘"‘/

VI. Institute C had one or more contracts in 2012 but did not have any ¢on régt»fﬁ 20114

VII. Institutes B and D each had exactly one contract in 2012. Institutgf'D dﬁd'hot h?i;mér\
\\

iy

contract in 2010.
\

))

|

4N
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Question 45

In which of the following years were there two or more contracts?

A 2017
B 2016
C 2015

D 2018

Answer: C

Explanation:
From IV: A, B, C, D have one 3, 7, 3, 4-year contract respectively and all other contracts are one-year contracts.

From |, Z has at least one contract every year, the only possible combination is 7+3 or 7+4 year contract and that 7-year contract must be
from B. =

From Ill, Vendor W had contracts only in 2012 and from VI, Institutes B and D each had exactly one contract in 2012 => W has got
contracts from A and C.

From II. Vendor X had one or mere contracts-in every year up to 2015, but no contract in any year after that and from VI, VII: C and D didn't
have any contract in 2011 and 2010/respectively => A should have X as a 3-year contract from 2010-2012. Now, for 2013-2015 X can't
have B for the same. So, X must have\got contracts from either C or D in that period.

Case 1:
X has C as a 3-year centract from 2013-2015 but in this case, D can't have any contract in 2012 so, this case is not valid.
Case 2:

X has D for a 4-year contract from2012-2015 and C must have Z for a three-year contract in the period 2017-2019 such that Z has at
least one contract every year.

It is known that over the decade, the institutes each got into two contracts with two of these vendors, and each vendor got into two
contracts with.two of these/institutes => A hasn't got any contract from 2013-2019 as it has X, W in the period 2010-2012 and similarly, C
shouldn't have-any-contracts in the years 2010, 2013, 2014, 2015, 2016.

From Ill, Vendor Y had contracts in 2010 and 2019 and in 2010 D and C hasn't got any contract and A has already got 2 different
contracts from two different vendors =>Y has a contract from B in 2010 => B hasn't got any contracts in 2017, 2018, 2019.

For Y the only possible contract will be from D => D has got no contracts in the years 2011, 2016, 2017, 2018.

Now, the table looks like:

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019
A X X xw N N N N N N N
B ZY Fi z z z z z N N N
C N N W N N N N z Fi Fi
D N N X X X X N N N Y

'N' represents no contract.

Out of the given options, only 2015 has two contracts and rest have only one contract in that particular year.
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Question 46

Which of the following is true?

A B had a contract with Z in[2017
B B had a contract with Y in 2019
C D had a contract with X in 2011

D D had a contract wifh Y-in 2019

Answer: D

Explanation:
From IV: A, B, C, D have one/3, 7, 3, 4-year contract respectively and all other contracts are one-year contracts.

From |, Z has at'least one contract every year, the only possible combination is 7+3 or 7+4 year contract and that 7-year contract must be
from B.

From Ill, Vendor W had contracts only in 2012 and from VII, Institutes B and D each had exactly one contract in 2012 => W has got
contracts from A and C.

From II. Vendor X had one or more contracts in every year up to 2015, but no contraetjin any year after that and from VI, VII: C and D didn't
have any contract in 2011 and 2010 respectively => A should have X as a 3-year eontract from 2010-2012. Now, for 2013-2015 X can't
have B for the same. So, X must have got contracts from either C or D in that period.

Case 1:
X has C as a 3-year contract from 2013-2015 but in this case, D can't have ény contractin 2012 80, this case is not valid.
Case 2:

X has D for a 4-year contract from 2012-2015 and C must have Z for a three-year contract in the period 2017-2019 such that Z has at
least one contract every year.

It is known that over the decade, the institutes each got into two contracts with two of these vendors, and each vendor got into two
contracts with two of these institutes => A hasn't got any contract from 2013-2019 as it has X, W in the period 2010-2012 and similarly, C
shouldn't have any contracts in the years 2010, 2013, 2014, 2015, 2016.

From IlI, Vendor Y had contracts in 2010 and 2019 and in 2010 D and C hasnit.got any contract and A has already got 2 different
contracts from two different vendors =>Y has a contract from B.in 2010 => B'hasn't got any contracts in 2017, 2018, 2019.

For Y the only possible contract will be from D => D has got no contractsiin the years 2011, 2016, 2017, 2018.

Now, the table looks like:

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019
A X X Xw N N N N N N N
B LY Z z Z Z z z N N N
C N N W N N N N z Z Z
D N N X X X X N N N ¥

'N' represents no contract.
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Option D is true.
Question 47

In how many years during this period was there only one contract?

Answer: A

Explanation: ,
From IV: A, B, C, D have one 3, 7, 3, 4-year contract respectively and all/other contraets are one-year contracts.

From |, Z has at least one contract every year, the only possible combinatien is 7+3 or 7+4 year contract and that 7-year contract must be
from B.

From Ill, Vendor W had contracts only in 2012 and from VII, Institutes B and D eachhad exactly one contract in 2012 => W has got
contracts from A and C.

From Il. Vendor X had one or more contracts in every year up to 2015, but'no contract in any year after that and from VI, VII: C and D didn't
have any contract in 2011 and 2010 respectively => A should have X as a 3-yearcontract from 2010-2012. Now, for 2013-2015 X can't
have B for the same. So, X must have got contracts from either-C or D in that period.

Case 1:
X has C as a 3-year contract from 2013-2015 but in this gase, D can't have any contract in 2012 so, this case is not valid.
Case 2:

X has D for a 4-year contract from 2012-2015 and~C must have Z for a three-year contract in the period 2017-2019 such that Z has at
least one contract every year.

It is known that over the decade, the institutes each got into two'contracts with two of these vendors, and each vendor got into two
contracts with two of these institutes => A hasn't got any contract from 2013-2019 as it has X, W in the period 2010-2012 and similarly, C
shouldn't have any contracts in the years 2010, 2013, 2014, 2015, 2016.

From Ill, Vendor Y had contracts in 2010 and 2019 and in 2010 D and C hasn't got any contract and A has already got 2 different
contracts from two different vendors =>Y hasa.contract from B in 2010 => B hasn't got any contracts in 2017, 2018, 2019.

For Y the only possible contract will be from D => D has got no contracts in the years 2011, 2016, 2017, 2018.

Now, the table looks like:

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019

A X X xw N N N N N N N
B LY Z z Z Z Z Z N N N
C N N W N N N N Fi Z Z
D N N X X X X N N N ¥

'N' represents no contract.

Only during 2016, 2017 and 2018, there was only one contract.
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Question 48

What BEST can be concluded about the number of contracts in 20102

>

exactly 4

o)

exactly 3
C atleast3

D atleast4

Answer: B

Explanation:
From IV: A, B, C, D have one 3, 7, 3, 4-year contract respectively and all other contracts are one-year contracts.

From |, Z has at least one contract every year, the only pessible combination is 7+3 or 7+4 year contract and that 7-year contract must be
from B. :

From lll, Vendor W had contracts only in 2012-and from VI, Institutes B and D each had exactly one contract in 2012 => W has got
contracts from A and C.

From II. Vendor X had one or more contracts in every year.up to 2015, but no contract in any year after that and from VI, VII: C and D didn't
have any contract in 2011 and 2010 respectively => A should have X as a 3-year contract from 2010-2012. Now, for 2013-2015 X can't
have B for the same. So, X must have got contracts frem either C or D in that period.

Case 1:
X has C as a 3-year contract from 2013-2015 but in this case, D can't have any contract in 2012 so, this case is not valid.
Case 2: .

X has D for a 4-year contract from 20712-2075 and C must have Z for a three-year contract in the period 2017-2019 such that Z has at
least one contract every year.

It is known that over the [decade, the institutes each got into two contracts with two of these vendors, and each vendor got into two
contracts with two of.these institutes => A hasn't got any contract from 2013-2019 as it has X, W in the period 2010-2012 and similarly, C
shouldn't have any contraets’in.the years 2010, 2013, 2014, 2015, 2016.

From I, Vendor Y had contracts in 2010 and 2019 and in 2010 D and C hasn't got any contract and A has already got 2 different
contracts fromtwo different vendors =>Y has a contract from B in 2010 => B hasn't got any contracts in 2017, 2018, 2019.

For Y the only possible contract will be from D => D has got no contracts in the years 2011, 2016, 2017, 2018.

Now, the table looks like;

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019
A X X xw N N N N N N N
B ZY Fi z z z z z N N N
C N N W N N N N z Fi Fi
D N N X X X X N N N Y

'N' represents no contract.

The Number of contracts in 2010 is three.
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Question 49

Which institutes had multiple contracts during the same year?

A Aonly
B BandConly
C AandBonly

D Bonly

Answer: C

Explanation:
From IV: A, B, C, D haveone 3, 7, 3, 4-year contract respectively and all other contracts are one-year contracts.\

From |, Z has at least one contraet every year, the only possible combination is 7+3 or 7+4 year contract and that 7-year contract must be
from B.

From Ill, Vendor W had contracts only in 2012 and from VII, Institutes B and D each had exactly one contract in 2012 => W has got
contracts from A and C.

From II. Vendor X had one/or more contracts in every year up to 2015, but no contract in any year after that and from VI, VII: C and D didn't
have any contractin 2017/and 2010 respectively => A should have X as a 3-year contract from 2010-2012. Now, for 2013-2015 X can't
have B for the same. So, X must have got contracts from either C or D in that period.

Case 1:
X has C as a 3-year contract from 2013-2015 but in this case, D can't have any contract in 2012 so, this case is not valid.
Case 2:

X has D for a 4-year contract from 2012-2015 and C must have Z for a three-year contract in the period 2017-2019 such that Z has at
least one contract every year.

It is known that over the decade, the institutes each got into two contracts with two of these vendors, and each vendor got into two
contracts with two of these institutes => A hasn't got any contract from 20/13-2019 as it.has X,WWin the period 2010-2012 and similarly, C
shouldn't have any contracts in years 2010, 2013, 2014, 2015, 2016. !

From IlI, Vendor Y had contracts in 2010 and 2019 and in 2010 D and/C hasn't got any contract and A has already got 2 different
contracts from two different vendors =>Y has a contract from B in 2070 == B*hasn't got.any contracts in 2017, 2018, 2019.

For Y the only possible contract will be from D => D has got no contracts in the years 2011, 2016, 2017, 2018.

Now, the table looks like:

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019
A X X Xw N N N N N N N
B LY Z z Z Z z z N N N
C N N W N N N N z Z Z
D N N X X X X N N N ¥

'N' represents no contract.
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B and A have multiple contracts in a single year.
Question 50

Which institutes and yendors had more than one contracts in any year?

A B,W, X andZ
B A B, W, and X
C ADWandZ

D B,D,W,and X

Answer: B

Explanation:
From IV: A, B, C, D have one 3, 7, 3, 4-year contract respectively and all other contracts are one-year contracts.\

From |, Z has at least one contract every year, the only possible combination.s 7+3 or 7+4 year contract and that 7-year contract must be
from B.

From llI, Vendor W had contracts only in 2012 and from VI, Institutes B /and D each had exactly one contract in 2012 => W has got
contracts from A and C.

From II. Vendor X had one or more contracts in every year up to 2015, but no‘contractin.any year after that and from VI, VII: C and D didn't
have any contract in 2011 and 2010 respectively => A should have X as a 3-year/contractifrom 2010-2012. Now, for 2013-2015 X can't
have B for the same. So, X must have got contracts from either C or D'in thatperiod.

Case 1:
X has C as a 3-year contract from 2013-2015 but in this case, D can‘thave any contract in 2012 so, this case is not valid.
Case 2:

X has D for a 4-year contract from 2012-2015 and C must have-Z for a three-year contract in the period 2017-2019 such that Z has at
least one contract every year.

It is known that over the decade, the institutes each got into two contracts with two of these vendors, and each vendor got into two
contracts with two of these institutes => A hasn't got any, contract from 2013-2019 as it has X, W in the period 2010-2012 and similarly, C
shouldn't have any contracts in years 2010, 2013, 2014,2015, 2016.

From Ill, Vendor Y had contracts in 2010 and 2019-ahd.in\2010 Dand C hasn't got any contract and A has already got 2 different
contracts from two different vendors =>Y has a contract frem B in 2010 => B hasn't got any contracts in 2017, 2018, 2019.

For Y the only possible contract will be from D => D has got no contracts in the years 2011, 2016, 2017, 2018.

Now, the table looks like:

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019
A X X Xw N N N N N N N
B LY Z z Z Z Z Z N N N
C N N W N N N N Fi Z Z
D N N X X X X N N N ¥

'N' represents no_contract.

A, B, W, X had more than one contracts in a single year
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Data Interpretation for CAT Questions (download pdf)

Instructions . . /’[“/\
For the following questions answer them individually / 1: \)>
4 ) =

Question 51
If Y is a negative number such that 2Y (10835) — 519823 then'y equa/st

"R

A logs( %) . \jv
B logz(é) -
X

c —logz(é) QQ)

1 \\\ /
D —log(3) A
Answer: B \
Explanation: QQ%

=
2Y2(10g3 5) 5Y2(10g3 2) \

Given, 5Y2(10g3 2) 5(10g2 3) Py
,"’/"
=> Y2 (logs2) = (log23) => Y2 = (1(6@ 3)° ;
=>Y = (—log23) or (log23) \ y
e Nt
since Y is a negative number, Y=(— log2 3) = (l'ong)

/‘_\‘
Loﬁ&\FRégsgnmg for CAT Questions (download pdf)
U <
Question 52 ( )
A Al
A gentleman decided to treata few Iéhl\ld'l:/eﬁ in the following manner. He gives half of his total stock of toffees and one extra to the first

child, and then the hal q? the remaining stock along with one extra to the second and continues giving away in this fashion. His total
stock exhausts after‘»hé‘\’tgkes care of 5 children. How many toffees were there in his stock initially?

.

-

Answer:62 k‘\:\';,-
Explanation:/ /
Let the initi%llbumber of chflcolates be 64x.

First child ge \“323(h+l‘qpc_f/-3j2x—1 are left.

2nd child gets ﬁ&?Tfé’gnd 16x-3/2 are left

3rd child gets 8x+1/4 and 8x-7/4 are left

4th child gets 4x+1/8 and 4x-15/8 are left

5th child gets 2x+1/16 and 2x-31/16 are left.

Given, 2x-31/16=0=> 2x=31/16 => x=31/32.

.. Initially the Gentleman has 64x i.e. 64*31/32 =62 chocolates.

Question 53

Answer:21

Explanation:
Let the number be 'abc’. Then, 2 < a X b x ¢ < 7. The product éélhb‘g\SA,S,G.
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We can obtain each of these as products with the combination 1,1, x where
have 4 such numbers: hence, a total of 12 numbers fulfilling the criteria.

= 3,4,5,6. Each number can be arranged in 3 ways, and we

We can factories 4 as 2*2 and the combination 2,2,1 can be us re distinct numbers.

We can factorize 6 as 2*3 and the combination 1,2,3 can be used to form 6 additional distinct numbers.

Thus a total of 12 + 3 + 6 = 21 such numbers can be fo\rkn\/7
Question 54

The number of real-valued solutions of the equatlon

A 1
B 2
C infinite
D O
Answer: D [/— /}
Explanation: L

\ 10

=

-15 -10 -5 0 5 10 15 20 23

10

The graphs of 2% + 2 %and2 — (z — 2)? never intersect. So, numb ro@uti s=0.
Alternate method:

We notice that the minimum value of the term in the LHS will be greater than or equal to 2 {at x=0; LHS = 2}. However, the term in the RHS
is less than or equal to 2 {at x=2; RHS = 2}. The values of x at which-both the sides become 2 are distinct; hence, there are zero real-
valued solutions to the above equation.

Quantitative Aptitude f T Questions (download pdf)

Question 55 o

A
How many disticnt positive integer-valued solutions e)x'\ t to the equation (X2 — 7z + 11)(X2,13x+42) =12

~

. \\\

: (
[

Downloaded from cracku.in


https://cracku.in/blog/quantitative-aptitude-for-cat/
https://cracku.in

Answer: D

Explanation: fi/ [/
(X2 e+ 11)(X2713m+42) — 1/

if (X2 — 13z +42)=00r (X2 — 71:—1—11):1 or (X2 — 7z + 11)=-1and (X? — 13z + 42) is even number
For X=6,7 the value (XI?( — 13z + 42)=0

(X2 — Tz + 11)=1 forX=5,2.

(X2 — 7Tz + 11)=-1 for X=é;4 .a.n'_d‘ for X=3 or 4, (X2 — 13z + 42) is even number.

{2,3,4,5,6,7_} |s the solution set of X.

.. X can take six values.

Question 56 .

A solid right circular cone of height 27 cm is cut into two pieces along a plane parallel to its base at a height of 18 cm from the base. If
the difference in volume of the two pieces is 225 cc, the volume, in cc, of the original cone is

A 243
B 232

C 256

D 264

Answer: A

Explanation:

18

3 r

___——‘"/

Let the base radius be 3r.

Height of upper cone is 9 so, by symmetry radiué of Qpper cone will ber.
m o
Volume of frustum=3 (972 - 2772.9).
Volume of upper cone = g.r2:9
s s /
Difference=3 -9 -7r2.25 = 225=33 . r¥ =1
Volume of larger cone = 5. or2 .27 = 243

Question 57

The area of the region saii's'fying the inequalities |z | —y <1,y > Oandy < lis

Answer:3
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The area of the region contained by the lines | z | —y < 1,y > O ar

1
Total area = Area of rectangle + 2 * Area of triangle = 2 + (2 x 2x 1

Hence, 3 is the correct answer.

Question 58 s

Top MBs

A 3VE(5 4+ )

WTBE 4 )

(¢}

3VT(3 + 9)

o

5VT(3 4 7)

Answer: A

Explanation:

A 21 B

2b

Let ABCD be the rectangle with length 2| and breadth 2b respectively.
Area of the circle i.e. area of painted region = 7 b2.
Given, 4lb-mr b2=(2/3)m b2.

=> 4lb=(5/3)7 b2.
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5T
=>|=12b.

5 9
Given, 41b=135 => 4*12b2=135 => b= V7
15
=> |= 4 ™
15

9 12
Perimeter of rectangle =4(l+b)=4( 4 V T +V7™ )=3\/7_r(5 + ).
Hence option A is correct.

Question 59

A circle is inscribed in a rhombus with diagonals 12 cm and 16 cm. The ratio of the area of circle to the area of rhombus is

A 53
B 1%
c %
D 15
Answer: A
Explanation:
A
X
10T
10-x 6
B
D g8 o s
6
C

Let the length of radius be 'r'.

From the above diagram,

22+ 72 =62 ...()

(10 — 2)® 4 72 = 82 (i)

Subtracting (i) from (i), we get:

x=3.6 =>72 = 36 — (3.6)> ==>r2 = 36 — (3.6)° = 23.04.
Area of circle = 7 r2 = 23.047

Area of rhombus= 1/2*d1*d2=1/2*12*16=96.

.. Ratio of areas = 23.047m /96=g75r

Question 60

Among 100 students, x1 have birthdays in January, X2 have birthdays in February, and so on. If 20 = max(z1, 2, ...., £12), then the
smallest possible value of xo is '
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Answer: B

Explanation:
zo = maz(z1, 2, ...., T12)
/
0o will be minimum if x1,x2...x12 are'close ch other
100/12=8.33

.max(z1, z2, .. ,a:12|?ﬂN|II be minimum if (z1, z2, ...., #12)=(9,9,9,9,8,8,8,8,8,8,8,8,)

\

.". Option B is correct{™\ ol ‘

Join MBA Telegram Group
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r.

/

Question 61( C
A straight r connects points A and B. Car 1 travels from A to B and Car 2 travels from B to A, both leaving at the same time. After
meeting eawe 45 minutes and 20 minutes, respectively, to complete their journeys. If Car 1 travels at the speed of 60

km/hr, then the s of Car 2, in km/hr, is

A 100

Answer: B

Explanation:
Let the speed of Car 2 be 'x' kmph and the time taken by the two cars'to meet be\'t\hou

In't' hours, Car 1 travels (60 x t) km while Car 2 travels (z X t) km

(z xt) 3 180
It is given that the time taken by Car 1 to travel (z X t) km is 45 or(3/4)hours. . 60 = 4 ort= 4z ..()
(60x t) 1
Similarly, the time taken by Car 2 to travel (60 x t) km is hours. -, = = 3or. . t= 180...(i)

\

Equating the values in (i) and (ii), and solving for x:

S =
180 z
4z = 180 — x = 90 kmph

Hence, Option B is the correct answer. \\

Question 62 ~ _—

A person spent Rs 50000 to purchase a desktop compﬁrq laptop computer. He sold the desktop at 20% profit and the laptop at
10% loss. If overall he made a 2% profit then the purchase pr?e, in rupees, of the desktop is

4
Answer:20000 (

Explanation: E.__,/
Let the price of desktop and laptop be x,y respectively.

Given,

(=Sh Ny
x+y=50000...(i) f ” O\J
12.x+0.9y=50000(1.02)=51000...(ii j

(i)-0.9(i) gives

£
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0.3x=6000=> x=20000.

Question 63 5 \

A solution, of volume 40 Iltre dye and water in the proportion 2 : 3. Water is added to the solution to change this proportion to 2 :
5. If one fourth f this d||uted solutlon is taken out, how many litres of dye must be added to the remaining solution to bring the

proportlonb(i t02:3?

Answer:8 \

Explanation
Initially the amount of Dye and Water are 16,24 respectively.

To make the ratio of Dye to Water to 2:5 the amount of water should be 40l for 161 of Dye=> 16l of water is added.

Now, the Dye and Water arr 16,40 respectively.

After removing 1/4th of solution the amount of Dye and Water will be 12,30l respectively.
To have Dye and Water in the ratio of 2:3, for 30l of water we need 20l of Bye => 8| of Dye‘should be added.

Hence, 8 is correct answer.

Enroll for Excellent urses

Question 64

If z = (4096)74V3, then which of the following equals to 642

D 2AV3

Answer: C

Explanation:
= 912(7+4v3)

20 — 942(7+4v3)

22V3 — 924V3(7+4V3)

,\
2;_2(7+4\F) 42-24V3) _ 7} =96

Hence C is correct ans?‘vgar
Question 65 A4 ~

An alloy is prepared by m ree metals A, B and C in the proportion 3 : 4 : 7 by volume. Weights of the same volume of the metals
A. B and C are in the ratio 5 : 26,/In 130 kg of the alloy, the weight, in kg. of the metal C is

Answer: B / ]
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Explanation:
Let the volume of Metals A,B,C we 3x, 4x, 7x
Ratio weights of given volume be 5y,2y,6y Q
! 12xy+8xy+42xy=130 => 65xy=130 => xy=2. o
."The weight, in kg. of the metal C is 42xy=84.

h

Question 66

1 1
The number of distinct real roots of the equation (z + z)2 — 3(z + 2) + 2 equals

Answer:1 \
Explanation:
p . \\

Leta =+ =
So, the given equationis a2 — 3a +2 =0
So, a can be either 2 or 1. \

1
fa=1x+ z = 1 and it has no real roots
Ifa=2x + z = 2 and it has exactly one real root whlm 1

So, the total number of distinct real roots o

given equation is 1

CAT Success Stories
Question 67

If loga 5 = (loga y)(logs v/5), equals

Answer:36

—

Explanation:
log 5 logy log
2log2 = 2log2 - 2logh|

log 36 = log y; .-

Question 68

Leaving ho é?the same time, Amal reaches the office at 10:15 am if he travels at 8 km/hr, and at 9:40 am if he travels at 15 km/hr.

Leaving ho iai‘l—oajmﬂ what speed, in km/hr, must he travel so as to reach office exactly at 10 am?

A 13
B 12
C 14

D 11

Answer: B

Explanation:

Q d d 35

The difference in the time take to traverse the same distance 'd’ at two minutes. Equating this: 8 — 15 = 60

On solving, we obtain d = 10kms. Let zkmph be the speed at whig el to reach the office in 50 minutes; then

10 50
z = 60 orx = 12 kmph.Hence, Option B is the correct answer.

N
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Question 69 \\\/

A train travelled at one-thirds of its usual speed, and hence reached the destination 30 minutes after the scheduled time. On its return
journey, the train initially travelled at its usual speed for, 5 minutes but then stopped for 4 minutes for an emergency. The percentage by
which the train must now increase its usual ged so ai o reach the destination at the scheduled time, is nearest to

A 50

Nﬁ/’j
B 58 y
¢ 67 ('/

n
D 61 QE\:,/}

Answer: C
Explanation:
Let the total distance be 'D' krmand e spegijd( the train be s' kmph The time taken to cover D at speed d is 't' hours. Based on the
information: on equating the dlstan&é\we = 3 X (t + 2)

On solving we acquire the value of t ‘* or 15 mins. We understand that during the return Journey, the first 5 minutes are spent
S

traveling at speed 's' {d{stance traveled in terms of s = 12} Remaining distance in terms of 's' = 4 — 12 =6

%
The rest 4 minutes of \p e added to this initial 5 minutes amounts to a total of 9 minutes. The train has to complete the rest of the
8 1

journeyin1lb — 9 = 6mzns‘b&h/10 hours}. Thus, let 'x' kmph be the new value of speed. Based on the above, weget = = 10 orz =
10s
6
10s
L 6 =8 200
Since the increase in speedfﬁeeds tobecalculated: s = x 100 = 3 ~ 67% increase.

Hence, Option ":is-the-c/ ect answer.

Subscribe to MBA Exams Youtube Channel

Question 70

A
The mean of all 4-digit even natural numbers of the form ‘aabb’,where a y&

p

A 4466
5050 s
.//
C 4864 /
&5 h

D 5544

Answer: D \j

Explanation: N

The four digit even numbers will be of form: (\—) ~7
1100,1122,1144..11 88,2200,2222,2244....9900,9922,9944,996(;,998

Their sum 'S' will be (1100+1100+22+1100+44+1 100+66+1 100+88)+(2200+2200+22+2200+44+...)....
(9900+9900+22+9900+44+9900+66+9900+88) \

=> S=1100*5+(22+44+66+88)+2200*5+(22+ 66@\t_9,901)—5+@2+44+66+88)

=> S=5+1100(1+2+3+...9)+9(22+44+66+88)

=>8=5*1100%9*10/2 + 9*11*20 \
Total number of numbers are 9*5=45 &

.. Mean will be S/45 = 5*1100+44=5544.

Option D E///
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Question 71

Two persons are walking besyé;a?}ay\ukk at respective speeds of 2 and 4 km per hour in the same direction. A train came from
behind them and crossed them in 9’2) and ﬂﬁxseconds respectively. The time, in seconds, taken by the train to cross an electric post is

nearest to t \
N4

A 87 l\ {
.\‘\
B 82
s{
c 78 A
£
&
D 75 |/ )
J'Ilf'.l
Answer: vi;
Explanation:

Let the length of the train be l[kms and speed be skmph. Base on the two scenarios presented, we obtain:

l 90 ! 100
s—2 = 3600....(I)) and s—4 = 3600...(ii)

90
On dividing (i) by (i) and simplifying we acquire the value of s as 22kmph. Substituting this value in (i), we have [ = 3600 x 20 kms

{keeping it in km and hours for convenience}

Since we need to fmd s, let this be equal to . Then, z = 90 X 22 1,81 ~ /82 s{cﬁ

Hence, Option B is the correct choice. /S

Question 72 =

If a, b and c are positive integers such that ab = 432, bc =96 and ¢ J mallest possible valueof a+b +cis
A 49

B 56
r-J
C 59 %\\4)

D 46
Explanation: Q\\\ fff/

Since ¢ < 9, we can have the following viable combmaﬂerls“fqr b x ¢ = 96 (given our objective is to minimize the sum):

\‘x

Answer: D

48 X 2;32x3;24 x 4;16 X 6; 12><8,—«>

Similarly, we can factorizea x b = 432 ?to its factors. On close observation, we notice that 18 x 24 and 24 x 4 corresponding to
a X bandb x c respectively togetherr nder us with t}gé least value of thesumof a +b + ¢ = 18 +24+4 =46

Hence, Option D is the correct answer. .\\:\---__./;‘

———

SN Jom CAT 2022 Online Coaching

Question 73 § Jf / fi N

In a group of people, 28% of the melql»bgis/ are young while the rest are old. If 65% of the members are literates, and 25% of the literates
le among the illiterates is nearest to

are young, then the pelﬁentage of ol

!
VY
A 62 %
W
\\ 7
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p 6 g

Answer: D
Explanation:

Of this 0.65x, 75% are old people =(0.75)0.65x old literates. The total number of old people in group G is 0.72x {72% of the total}. Thus,

Let X' be the strength of group G. Based on the information, 0.65 constitutes of ifefate people {the rest 0.35x = illiterate}
0.2325z
the total number of old people who are illiterate = 0.72z — 0.4875x = 325x. his}sti z X 100 =~ 66% of the total number
of illiterates. Hence, Option D is the correct answer. (f(
Question 74 > 5
———
Veeru invested Rs 10000 at 5% simple annual interest, and exactly after invested Rs 8000 at 10% simple annual interest

Answer:12 \'j*
Explanation: C\

Let their individual Amounts be equal after 't' years. Let their initial inveﬁ

5t 10(t-2)
Ay =10,000 (1+ 100) and A7 = 8,000 (1 + 100

5t 10(t—2)
Equating both: 10,000 (1 + 100) = 8,000 (1 + 10 )
\
On simplifying both sides, we get: 15t = 1@ t = 1\

Question 75 r-f-""

If f(5+ x) = f(5 — z) for every real x, and f(z) =0 r distinct real roots, then the sum of these roots is

V 4
A0 ;’/
| D
C 10
D 20 g
IR
Answer: D L / / \) !
(Y
Explanation: \‘:\'/

Let r' be the root of theﬁlznction. It follows that f(r) = 0. We can represent thisas f(r) = f{b — (5 —1r)}
LA
Based on the relatio%w) =fG+a)f(r)=f6-6G-r}t=Ff{H+0B-7)}
L f(r)=f(10-r) S
Thus, every roof/r is associated with another root '(10-r)' [these form a pair]. For even distinct roots, in this case four, let us assume the

roots to be ﬁ/]iollows: r1, (10 —r1), 72, (10 — r2)

~

[7
The sum ofkﬁj‘e&roots =/?ﬁ1 +(10—7r1)+ r2+ (10 —7r2) = 20
B

. 4
Hence, Option the correct answer.
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Question 76

A and Cis 7. Then the sum of A and B is
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6 @

c Na=r
\‘! )
Answer: C = x
7
Explanation: m“k V..
Given ==
A+(B+C)/2=5 => 2A+B+C=10....(i) \-\'"\.\
L. o VA
A+C)/2 +B=7 => A+2B+C=14..... ii . W -
(A+0) (i SN
(i)-(i))=> B-A=4 => B=4+A. N\
l-""\\.‘\.
Given, A, B, C are positive integers ~
If A=1=>B=5 => C=3 &
I{ /

If A=2=>B=6 => C=0 but this is invalid as q |s positive. m

Similarly if A>2 C will be negative and casés\aqe not val;é/
O

Hence, A+B=6. —

——
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